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- Q.10.

Sol.

We know that
LCM x HCF = Product of numbers
'L CM = Product of numbers 2952 = 2256
" HCF = 24
LCM = %’%‘ﬁ = 2777488 Ans.
The HCF and LCM of two numbers are 23

and 345. If one nmumber is 115, find the
other

-

We know that
LLCM x HCF = Product of numbers

‘Let the second number = x then

23 x 345 = 1156 x x AR e
93 % 345 : 0

x =69 Other number = 36 Ans.




Objastive Exereise 3
Answer the following questions
What is meant by the factor of a number?
A number that divides a given number exactly
is called a factor of the given number.

Define the prime numbers.

Those numbers which have‘only two factors are
called prime numper.
Which number has only one factor?

1 has only one factor.

How do we tell if a number is divisible by
3?

If 3 divides a number exactly, it is divisible by 3.
What is meant by pnme factorization?

. If we factorize a number i in such a way that its

factors are prime numbers. This process is

called prime factorization. y ! %



1e long division method to find
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Q.7. Use prime factorization method to

find

.. C.OVL
i.
3 75 2 120 :
5 25 2 60 /"
5 5 2 130
- & 3 15
Bis+S =
— 3 1 -
75 =3 x5x5=3 =52
~120-a2x2><2x3><5=23x3x6
LCMof75&120-8x28x52
- =3x8 =25 =600
ii. :
2 | =234 2 | 702
3 317 3 351
3 39 3 & th & o
13 | 13 3 39
5 4 13 13
234 = 2x8x3x13 2x83x18
702 = 2x8><3x3x13-2x83x13
1L.CM of 234 8& 702 = 2x33><13
. =2x27><18 = 720
' iii. 3 -
: 3 |76 5 | 125 2 | 350
\ 525 5 |25 5| 176
' 5 |6 : 5 |5 & [y
1 1 pEe . |

75=3x5x5 3><5’
l , 126=5x5x6=5%
350 =2x565x56x7
l LCM=3x2x53x7 ——
i C 8 =2 =125 %7 = 560" Ans.













Odd nnumbers less than 20
1, 3,6, 7,9, 11, 13, 15, 19
Prime numbers less thhan 20

Q.3. Tell which of the following numbers are
divisibile by =2, 3 d 5 without carving
division. = 0

Sol. L
Divisible by 2 y
6420, 5030, 4132, 20004, 4567, 32124 .
Divisible by 3 ' -
G420, 11115, 20004
Divisible by 5
Ga420. 7125, BO30, 1111565

@.4. Write the prime factors of the followings
numbers using index notation.

Aa D00 )y " 2 Q00
- Sol. = _ 2 50
PES L x22 =3I BB =bB 3 2205
—— 22 3 32 =< B2 3 TS5
5 25
E - 5 5
- 1 ’
Ak 1296 2 1296
Sol. ) 2 648
—= 2R 2XI B >xIXx3 2 324
- 24 < 34 =2 162
3 =1
=2 =27
= 3 =
,} 7 t’. 1

-
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Q2.
Sol,

Review Zxersise 8

Write all numbers less than 40 which
are

Multiples of 2

2,4, 6,8, 10, 121416182022242628
30, 32, 34, 36, 38

Multiples of 5

5,10, 15, 20, 25, 30, 35 ~

Multipels of 7 iv.  Multiples of 9
1,14, 21, 28, 35 . 9,18, 27, 36
Write all even, odd, prime and
composite numbers less than 20

Even numbers less than 20
2,4,6,8, 10,12, 14, 16, 18

~ LOM=2x2x2x2x3x5=240

~ They flash together after 240 seconds.

Q 10. Manahil wants ‘to prepare some
handkerchiefs of same size from a piece of
cloth 9m long and 1.25m wide. What will be
the largest size of the handkerchiefs when

~ no wastage is allowed.
Sol.
9m= 9x100= 900cm, 1.25m=1.25x100= 125 ¢cm
- :
Ié5 900
875 5
%. | 1%
125
X

The largest size of handkerchief = (25 x 25) cm
ar9%em hv 95 rm '



Q.8. There are 416, 364 and 312 students in

Sol.

Sol.

three classes respectively. Buses are to
be hired to take these students to a
school trip. Find the maximum number
of students who can sit in a bus if each
bus carries an equal number of
students.

-

1

364 | 416
364 sS4
52 | 364 , .
364
X
' 6
52 312
R &
=h TE A LS
= 52 students Ans,

Three light houses flash their lights every
16 seconds, 24 second, and 40 seconds
respectively. If they flash together at 2
p.n, at what time will they next flash
together? '

16,24,40

O[S0 [N (DD




~p2x2x2x8x3=72
~ Hence, Ali can draw ‘72’ square patterns to
©  cover the paper completely.
3. In a morning walk, three friends step
. off together. Their steps measure 70 cm,
76 cm and 90 cm respactiwly. At what
distance from the starting point will
they step off again together.

A 2 | 70,76, 90
2 |35, 38, 45

5 [35,19.45
B 8 )G
78 17,19, 8"

S TadS, 1

-19 (1,19, 1
n 1 50 65
=2x2x5x8x3x7§(19-m k
7. Two containers have 850 litres and 680

litres of milk respectively. Find the
capacity of a container which can
‘measure the millk in each container in
exact number of times.

2 | 850 2 | es0
5 425 ‘2 340
8 85 2 | 170

17 a7 & 85

il R X

3 o 1

850 =2x5x56x7 v 3
680 =2%2x2x5x7 .
I:BCF=2><5><7 170

Capacity of container = 170L.



4 ‘.=2x2><2><3><3 72
Hance, Ali can draw ‘72’ square patterns to
cover the paper completely.
In a morning walk, three friends step
 off together. Their steps measure 70 cm,
76 cm and 90 cm respectively. At what
distance from the starting point will
they step off again together.

a8 2 | 70,76, 90
2 |85,38,45
5 |35,19,456 - , ;
3 |7.19,9
8 A9,
i A I T L
.19 [ 1,19,1°
- TR I ]

==2><2><5><3x3x7x19-28940 =

7. Two containers have 850 litres and 680
litres of milk respectively. Find the
capacity of a container which can

measure the milk in each container in
exact number of times.

2 | 850 2 | 680
5 |425 2 |340
8 |85 : 2 170
YE AT : 5 85

1 ' N
=L 1

_85.’6;2><5><5.x7 v N
680 =2x2x2%x5x7 , :
HCF=2x5x%x7 =170

'Capacity of container = 170L.




Q.4. Find the shortest length of a pipe that
can be measured exactly with 4m, 6m
and 9m long measuring tapes

reportedly. <
=2%x2x3x3 2 |14.6.9
=36m : 2 |2, 38,9
is the shortest length 'of a pipe 3 1, 38
that can be measured with 4m, 3 [1,1,3
6m, and 9m tapes. > D U

Q.5. The paper of a note book is 18cm.by 24
em. Ali wants in cover the paper
completely with square pattern of the
same size. Find i. The largest
possible area of each square pattern.

ii. The number of square pattern that Ali
can draw two cover the paper

- completely.
Sol. ]
% 29
18 ‘-2'4-
. X8 3
6 . -
18
>

Hence, ‘6em?’ is the largest ;:o‘ssiljle area of each
square pattern :

ii.

18, 24
9,12
9,6
3,2
3,

Z )
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LXABPEISE 3.6 ,
Find the smallest number that can
exactly divide the numbers 108, 180 and
216. -

O . 2. | 108, 180,216
P, 2X2Xx2x3x3%x3x5 T2 54, 90, 108
. = 1080 Ans. 3 27, 45, 54
4 3 |9 15,18
s 318,56
He 2 1,5, 2
M oA 5 11,51
gt ) ) SEERE
. Q.2. Find the smallest number that - is
SR i exactly divisible by 5, 15, 25
B 3 |5,15,25
‘j_‘}i;‘~$x5x5=75Ans. B |5,5,25
o] 5 |11,1.6
LA 1,451
~ Q.3. Find the greatest measure of a string
5 e that can measure exactly 27m, 45m and
Wl long wooden border exactly.
‘Sol. : ' :

Ty To determine the greatest measure of string, we
find HCF of given lengths. :
2.3

27 3 |a5 3 |e3
-3 |9 3 15 3 21
313 5 |5 7 1%
1 1
27 =(3 > 3
45 »x 5
63 = 7 f

SoHCF of 27, 45,63 =3 %<3 =9
So greatest measure = 9m.



Q.5.

Sol. .

- Q.6.

Sol.

Q.7.
Sol.

The 1LLCM of two numbers 660 and 2100
is 23100. Find their HCFEF .

We know that

L.CM < HCF = Product of two numbers

23100 < HCF = 660 x< 2100

660 x< 2100
HCF =""3537060
HCF = 60

The HCF and LCM of two numbers are
29 and 3045. If one of the numbers is
4385, find the other.

Let second number = x X
LCM < HCF = Product of two numbers
29 < 3045 = 435 < x

29 % 3045
27 oS D eASh
x = 203

So the second number is 203. 2
The HCF of two numbers is 16 and their
product is 3328. Find their LCM.

We know that
LCM x HCF = Product of two number
LCM < 16 =3328 -

3328
LCM = 208



. 144,180.800
“”'L‘CMofm 180 and

' is 105. Find the LCM
- We know that

M. 105 - =526 x 1155
526 x 1155

[l vlaflu |

| m|a|;1=st’ﬁl»&|~

' = Product ot two numbers

TE0N < - 1155 x 5=—=LCM = 5775




xii. 28, 50, 75

Sol.
5 |25 2 |50 3 75
5 |56 5 |25 5 |25
1 5 |5 5 |5
- ke & 1
Therefore, .
256=5x%5 =
50 =2x5x5 = x 2
75 =3x5x%x5 = x 3 -«

Thus the L.C.M of 25, 50 and 76= 57 X3 X 2

=25x3x2=150 .
.3. Find the L.C.M by using the division -

method.
i. 27, 81, 54 : 3 27, 81,64 .
Sol. f ' 9, 27, 18
Thus the L.C.M of 27, 81 and 54 3 |3,9,6
i883x3x83x3x2° 3 114,3,2
= 162 Ans. > T B Wl G
: L 15 15 R ¢
ii. 18, 45, 63 X 3 18, 45, 63
Sol. 3 6, 15, 21
Thus the L.C.M of 18, 45 and 63 2 [2,5.7
is3x3x2x6x7 \ B 1:6:1
= 630 Ans. 1 i s 5 R
_ 1, 3,1
iii. 35, 55, 100 2 35, 55, 100
Sol. 2 35, 55, 50
Thus the L.C.M of 35, 55 and 100 5 | 35, 55,25
LisBx2x2x5xTx11 5 |7,11,5
= 7700 Ans. i 7 e s By ¢
f J Tl arl
1,1, 1




‘,Lcmaxz,xsmam =235 y2
; 2 -sxb-va
%8‘,“

{35 B -
18&::.421. =89x6>47
-9*5*7-815
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'_2.4,6 8, 10, 12,
6,12 "-

________
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vi. 8,12

Sol.
Multiples of 8 = 8, 16, 24, 32, 40. 48. 56, 64, 72, 80, ......
Multiples of 12=12, 24. © y Oy 2y By Lol

Common multiples ot s, 12 are 24, 48, 72,
Therefore, L.C.M of 8 and 12 is 24.

vii. 7,14

Sol. :
Multiples of 7 = 7, 14, 21, 28, 35, 42, 49, 56, ..cm-
Multiples of 14 = 14, 28, 42, 56, 70, (3 LS :
Common multiples of 7 and 14 are 14, 28, 42, 56, .....
‘Therefore, L.C.M of 7 and 14 is 14. 3
wviii. 10, 15

Sol. L !
Mustiples of 10 = 10,20,3_0,40,50,60,’70,80,90,100, ........
Multiples of 15 =1.5,30,45,60,75.90,105,120,13,5,
Common multiples of 10 and 15 are 30, 60, 90, .....
Therefore, L.C.M of 10 and 15 is 30

ix. 3,6,9

Sol. ,

Multiples of 3 =3, 6, 9, 12, 15, 18, 21, 24, 27, 30, ......
Multiples of 6 = 6, 12, 18, 24, 30, 36, 42, 48, 54, 60, ......
Multiples of 9 =9, 18, 27, 36, 45, b4, 63, 72, 81, :
Common Multiples of 3, 6 and 915 18
Therefore, L.C.M of 3, Q and 9 is 18.

. 2,6,9

Sol. .
Multiple of 2 = 2, 4, 6, 8, 10, 12, 14, 16, R YA AL
Multiples of 6 = 6, 12, 18, 24, 30, 36, 42, 48, 54, 60, ....
Multiples of 3 = 3, 6, 9, 12, 18, 1. 24, 2, «.-:-
" Common Multiples of 2, 6 and 9 is 18

Therefore, L.C.M of 2, 6 and 9 is 18. )
xi. 4,8, 12 {/
Sol. .

Multiple of 4 = 4, 8, 12, 16, 20, 24,28, 32, 36,

-------

DR



Q.1. Fin! the L.C.M of given numpers by

finding their common multiples.
i. 2' 4 RN
Sol.
Multiples of 2 = 2, 4,6, 8, 10, 12, 14, 186, .....
Multiples of 4 = 4, 8, 12, 16, 20, 24, 28, ...
Common multiples of 2 and 4 are 4, 8,12, 16
Therefore, 1..C.M of 2 and 4 is ‘4’

ii. 5,6
Sol. : :

° Multiples of 5 = 5, 10, 15, 20, 25, 30, 35, 40, 45, 5O,

55,60,65, ......

Multiples of 6 = 6, 12, 18, 24, 30, 36, 42, 48, 54, 60,
Common'multi'ple_s of 5 and 6 are 30, 60, ..... b
Therefore, L.C.M of 5 and 6 is ‘30", -
iii. 3,4 : » _!;
Sol. =2

Multiples of 3 = 3, 6,9, 12, 15, 18, 21, 24, 27, 30, ...
Multiple of 4 = - 4, 8, 12, 16, 20, 24, 28, 32, 36, ,.....

Common multiples of 3 and 4 are b & I R
Therefore, L.C.M of 38 and 4 are ‘12’

iv. 7, 8 <

Sol. .
Multiples of 7 = 7, 14, 21, 28, 35, 42, B0 03, e e
Multiples of 8 = 8, 16, 24, 32, 40,48, 56, 64, , ..... ...

Common multiple of 7, 8 is 56
Therefore, L.C.M of 7 and 8 is ‘56’

V. 6,9 _

Multiples of 6 = 6, 12, 18, 24, 30, 36, 42, 48, 54, «.....

lultiples of 9 = 9, 18, 27, 36, 45, 54, 63, ........ :
’;;.Qommon multiples of 6 and 9 are 36, 56, ..... -,\
Therefore, L.C.M of 6 and 9 is 36. 225












viii. 22, '55, 110

-bi;k__ B

Sol'd
2 22 5 55 2 110
1 5 0 i i 11|11 5 55
1 1 11 | 11
=
22 =2¢ A1 110 = 2x 5x 11
65 =56x ' 11 H.C.F =11
ix. 56,189,175
Sol. SRS -
-2 56 3 189 5 175
2 |28 3 |63 5 35
2 14 3 21 7 T
FAEIT 7 7 i
1 1
56 =2x2x2x 7 176=5x6x 7
189=3x3x 3x 7 HCF=17
Q.4. Find the H.C.F of the following
numbers, using the Long division
method. -y
1.72, 184
Sol.
2
72 | 184 4
~3144 1 2
40| 72
=R
32| 40
—-32 4
g | 82
— 32 / o
& x
HC.F=8 &









vii. 4,6,10

Sol. T
4=\ 4
y " e- n'zc‘
factors ZAte 10 o 10
> i Commonfactm p 85

Mdksaaa | H.C.Fof4, 6 ana 10-2
4 v:m. 22, 44,66

ZR B TN
factors = 1, 13 : .3, %ss

f 39 and 52 =18 - Common factorswl,z. 11

_!j‘ind the H.C.F of the following
_.numbers, using the prime factorization
- method.

12 2 |ais

I 3 |9

I, R R
1_‘.. ’~ e



iii. 10 and 15

Sol. The factors of 10 are =
The factor of 15 are =
= The common factors of 10 - are 1 and 5.
iv. 12 and 18

Sol. The factors of 12 are = ;
The factor of 18 are = 9, 18
=> The common factors of 12 re 1,9 ,3 and 6.

V. 20 and 3
Sol. The facbora of 20 are =
The factor of 30 are = 15 30
= The common fac of g and are125
and 10.

vi. 28 and 36
Sol. The factors of 28 are— \7, 14, 28

The factor of 36 are = 6,9, 12, 18, 36
= The common factors of d are 1,2 and 4.

Q.2. Find H.C.F by writing ‘the common
factors of each number.

i. 24,38

Sol. ’

U= u

36 =\1).2 : 18,36

Common factors = 1, 2, 3, 4,6, 12

H.C.F of 12 and 36 =12 S
.

ii. 25, 45 iii. 21,49

Sol. Sol.

25 =1\, 25 21 =1\, 3,(7,21

45 =\1/,3 15,9.15,46 49 = 49

Common factors = 1, 5 Common factors = 1, 7

H.G.F of 25 and 45 =5

H.C.F of 21 and 49 ﬁ
‘)&; N %\‘_ QL‘/



| Q 1. Find all the common factors of

Sol.

=

ii.
Sol.

|

The factors of 8 are = }
The-factor of 12 are = 6 12 |
“The common factors of 8 61,2 and 4 l

-i-*-hérzise e

®,

6 and 10

The factors of 6 are =
The factor of 10 are =
The common factors of 6 0 are 1 and 2.

8and 12

o



iEnerelse Sdes

| Ql Find all the co'n&mon factors of

L 6and10

)

d

Sol. The factors of 6are= 1,23 6
- The factor of 10 are = b

= The common factors of 6
i, 8andl2

0

- Sol. The factors of 8 are = A, A8
: The-factor of 12 are = 12);3,(4/,6, 12
= The common factors of 8 alid 12 aké 1, 2 and 4.

are 1 and 2.

—




 Sol.
4 390

2 x 195

2N

2 x 3 x 65

4

20 58 k6" %13

Hence, the prime factors of 390 are

=2x3x%x5x13 Ans.
viii, 770
Sol.
, 770
2 x 385

AN

/2 X/S x

NN AT iy s A S e

Hence, the prime factors of 770 are
=2 X5 xTx 11 Ans,

/\\’\






25535 T o L e 2 5 ey
=2x3xX7% Ans. 1
xii. 1248 2 1248
Solo = 2 624
Hence the prime factors of 1248 2 312
are: 2 156
LX2xK2x%x2x2x3=<13 N e 78
=25x3 x 13 Ans, 3 39
. 13 | 13
1

Q.4. Factorize the following numbers into
prime factors . by wusing factor tree

- method.
i. 24 ; : 24
Sol. 3
Hence the prime 2'./'>'2
factors of 24 are = 2 < 2 2/ & 2/><\e
xX2x3
=2 X 2%2x3 Ans. / / p
ii. 36 P e NI = 2/x\3
Sol.
3 /36\
) . 2 *x 18 2
/2 ,‘/2 TR
2 = e U AL 3/><\3
Hence the prime factor of 36 are =2 <2 %33
= 22 5 g2 Ans. <



T S
»  wvii. 256
Sol.

I%lé

Hence the prime factors of 256 are:

: 2| 64
2H2X2 X2 x2K2HK2X2 2 | 32
= 28 Ans. | 2|16
218
214 ’
2 2%
; 1
viii. 392 2| 392
Sol. .__2__ 196
Hence the prime factors of 392 are: 2 | 98
2x2x2x7x7-2*x79x2Ana 7149
! 7N
1 ) »
ix. 5250 2 | 56250
Sol. 5 2625
Hence the prime factors of B250 § 525
.are: 105 ‘
2x3x6x65xb6x7 8 1
=2x3xbB2xbxT 7/ e
=2x3x53x7 Ans. e o
2310 2 | 231
Sol. SR LSBT D
Hence the prime facbora of 2310 3 231
are: 77
=2x3xbx7x11 Ans. 11 11 ~
. 11
xi. 2058 . _2|2058
Sol. "3 | 1029

Hence the prime facbors of 2058 7 | 343
are: 7149




Q.3. Find the prime factors of the following

numbers by using division method.
; 20 -

i. 20

Sol. .
Hence the prime factors of 20 are:
2x2x5=22x5 Ans.

ii. 36

Sol.

Hence the prime factors of 36 are:
2x2x3x3=22x32 Ans.

iii. 98

Sol. 2 7

Hence the prime factors of 98 are:
2XTxT=2x72 Ans.

iv. 225 .

Sol. .

Hence the prime factors of 225 are:
3xX3x5xH =82x52x13 Ans.

V. 216

Sol. -
Hence the prime factors of 216 are:
3X3x3x2x2x2

=32 x22 Ans.

- wi. 441

Sol. e
Hence the prime factors of 441 are:
3x8xT7x 7 =32x 72 Ans.

2

2

10

5

5

-
36

18

9

3

1
98

49

QU [ feo bl

7

1
225

75

25

5

1
216

72

24

8

4

ISR O (8

2

i &

441

| 147

R R (O] [V

A

-




Express the following factors by using
the index notation.

Q.1

, v 13 <13 <13 i x> <x3I X3
Ans. 133 3 ) 2

ii. 7 A T . T (e Ans. 3%

Ans. T4 wvii. 22 X2x3x3
idi. 29 < 29 B x5 o

Ans. 292 Ans. 23-x 32 < B2

iv. BxBXOBXBxbBXx wviii. 7 x 7 x< 11 x 23 x
5 23 -
Ans. BS Ans. 72> 11 x 232

w 11 <11 <11 <11

Ans. 114

Q.2. Fill in the boxes to complete the factor
tree.

.

- \s |
FS~ F SEY f e

e T e——————————
iv. 1111150 v. 626205  vi. 100200300

Ans. Divisible by ‘25’ VoY /)
142300, 5412625, 1111150, 100200300 \-




- Q.s. N

Divisible by 3

762, 5361, 1215, 12345, 45678

Divisible by 4 g
512, 968, 3692 and 4952. By
Divisible by 5 : L
110, 1215, 7310, 1010, 12345

Using the divisibility test, determine
which of the following numbers are
divisible by 8 or 9.

i. 512 ii. 383 iii. 440 iv. 904
" v. 56565 vi. 2968 vii.5669 viti.11241
ix. 16920 x. 11088 xi. 9144 x%ii.6312

Q.4.

Ans.
Q.5.

Q.6.

Divisible by ‘8’

512, 440, 904, 2968, 16920, 11088, 9144, 6312.
Divisible by ‘9’

333, 56565, 6669, 11241

Find the number which is divisible by 11. ol
i. 2550 ii. 3673 iii. 8415 iv. 5155
v. 135795 vi.21211212 vii. 7654321 =
viii. 6564313 - t :

Divisible by ‘11’

1357965, 21211212, 654313

Which of the following numbers are
divisible by 12 or 15. - .
i. 312 ii. 576 iii. 729 iv. 1140
v. 1335 vi. 4428 vii.3150 - viil.612
ix. 11112 x. 12345 xXi. 23448 xii.70350
Divisible by 12.

312, 576, 1140, 4428, 612, 11112, 23448, 7035,
Divisible by 15

1140, 1335, 3150, 12345, 70350 -
Find the numbers which can be divided

by 25. s ==k
i. 142300 ii. 5412625  iii. 810235 @



Q.1. Separate the. following into even and
odd numbers without carrying division.
i. 6423 1. 8321 111, 6254 iv, 989

v. 810 vi. 8394 vii.1234  viii.1357
ix. 54321  x. 86420 xi. 99880  xii.30005

Even Numbers | Odd Numbers
6254 6423
810 8321
- | 8394 989
1234 | 1357
86420 54321
99880 30005
~. Q2. Which of the following numbers are
divisible by 3, 4 and by 5.
1. 762 ii. 512 iii. 110 iv. 968

v. 3692 vi. 5361 vii.1215 viii.7310
ix. 1010 x. 12345  xi. 4952 xii.4567f/%)



Q7.

~ Ans.
| Q.8.

Q.9.

Q8.
Ans.

List all numbers less than 50 whlch are
multiples of 3 and 4. .
Multlples of 3: 3, 6, 9, 12 15 18, 21, 24 27 30,

33, 36, 39, 42, 45,48
Multlples of 4:4, 8, 12, 16, 20, 24 ‘28 32, 36, 40,

44, 48
Write all composxte numbers less than
20. ‘
468910121415 16, 18

Write five consecutive composite
numbers just below 50. :
44, 45, 46, 48,50

Write all prime numbers less than 15C /
2,8, 5,7, 11,13




iv. 99
Sol. ‘
The factor of 99’ are 1, 8,9, 11, 33,99
Q.2. Write first five multiples of each of the

following numbers

i. 3 ii. 9
Sol: 3,6,9,12, 15 Sol. 9, 18, 27, 36, 45
ii 5 iv. 12
Sol. 5, 10, 15, 20, 25 Sol. 12, 24, 36, 48, 60
Q.3. Separate the odd and even numbers
4 i. 1356 ii. 342 . 1112
iv. 5008 v. 9427 vi. 8134
vii. 10006 viii. 78965
'Answers:
Odd numbers g =
1,435 v. 9427 viii. 78965 ’,
Even numbers : , m
ii. 342 iii. 1112 7 iv. 5008 vi. 8134
vii, 10006
Q.4. List all the prime numbers between;
i 10 and 50 ii. 25 and 60
iii. 32 and 48 iv. 76 and 90
Answers:
i. 11, 13, 17, 19, 23, 29, 31, 37, 41, 43, 47

ii. 29, 81, 37, 41, 43, 47, 53 59.

1ii. 37,41, 43, 47

iv. 79, 83,89

Q.5. List all numbers less than 100 whxgh
are multiples of 5 and 10.

Ans. Multiples of 5: 5, 10, 15, 20, 25, 30, 35, 40, 45,
- 50, 55, 60, 65, 70, 75, 80, 85, 90, 95, o
Multiples of 10: 10, 20, 30, 40, 50, 60, 70, 80, 90
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Q.1. Write all the factors of each of the
following numbers

1. 21

Sol.
The factors of 21’ are 1, 3, 7 and 21.

ii. 36

Sol.

" The factors of 36’ are 1,2, 3,4, 6,9, 1218, 36.
iii. 48 |

Sol. ;
The factors of 48’ are 1,2 3,4,6,8, 12, 16, 24,

o s , 0



‘Show that relation between HCF and LCM
of two number by vsing a formula.

First no. x 20 no = HCF x LCM

Fill in the blanks.

‘The number having no common factors other
than 1 are called numbers.

'A number havxng a factor other that 1 and itself
is called numbm'

is the only even prime number.

»{}A number is divisible by if the dxg’it‘v at its
‘unit place is 0 or even number.

Th

'he process of writing numbers into 1ts factors
scalled .

rs: , . :
i. Prime 4 ii. Composite iii. 2
iv. 2 v. factorization

Tick(v) the correct answer.

The factor of every number is : ¥
I 3 b. 1 c2 X 7. 1o I
Every number greater than 1 has at least
- factors {

-~ a. one b. two c. three- . d. four

A number is divisible by 6, if it has even number
at the unit place and the sum of its d‘lgltb =3
~ divisible by

¥ a. 2 b. 3 o 6 d'. 9
TheLCM of 2 and 3 is -

a. 2 b. 3 c. 6 d. 9 .

- If LCM of two numbers 4 and 9 is 86, then its
- HCF will be.

.a.1 b D c.9 g

1 b . T il b iv.d @

SOLVED PTB MATH-6 CH:4,5



following numbers |
-5t00 |
—

15]4 3 2 afo
Oto+5 e s
-— >

0 RS SR ecr B 0.

-21to +4

< )
A0 (RS (RS st SERIE 7. S5 I 1

4 to+1 :

— 3
T L T R B

Fill in the box with > or <,
i 6[5s5 R AR § I
i, -2[<]o iv. 0f[<4

v. 8[5]-10 vi -9[<1

3 Wthlll&  greater ~101 or -111?

=101 {0

. Which is émaner -99 or -199?

=199 Y ;



7. Whatwasthetotalrain‘fallit_lawéeek
;vhen it rained 1% cm on Thursday, 5cm

on Friday and '1% cm on Sunday, the

rest of week was dry?
Sol. A 3
Rainfall on Thursday =13 cm=35 cm
' 2
Rainfall on Friday =5 cm
, 3
Rainfall on Sunday =10 ™
3 2
Total rainfall =9 +5t10
15+4+3
= 10
22
— 10
2
=270

-

Objestive & Brgise 9

Q.1. Answer the following questions
i. Write the order in which brackets are

solved.
Ans. 1. Bar or Vinculum . 7
o2 Parenthesis. * il
3. Braces “t .

4.  SquareBrackets “l .. I

What is BODMAS rule? (o bi ﬁ;}\
. BO for Bracketsof & \/ =22
D for  Division
M for  Multiplication
A for  Addition
S for  Subtraction

What are three points needed to

concentrate while solving a word problem?
i.  What do you know?

ii. " What do you want to know?

iil. What is the proper operation?

What is the other name of square brackeis?

Box brackets is the other name of square
brackets.

.2, Fill in the blanks.

Answers:

W subtraction d.

In short the simplification rule is called the

Additions, subtraction, multiplication and
division are the four __ of mathematics.
____is called curly brackets or braces.

“  )iscalled a r:ind br
*___"iscalled a bar or

i. BODMAS
iv. parenthesis

ii, operatig.. |
v. vinculum

. Tick the correct answer.

According to BODMAS rule, first basic
operatioft is performed.
a. addition b. division
multiplication






Q.10. Sadaf bought 2.25 kg beef at the rate of 2,18 & = g—q
/z ‘Rs.160 per kg, 0.7 kg mutton at the rate z g -G +3 xGx3M eV [
52/ of Rs.350 per ko and 2.35kg chicken at S0 e
the rate of T 1.0 per kg. What amount = g -13 +5 =1l
does she have now out of Rs.1000? T,
5 11 +3
Sol. = g -t% 1
Cost of beef = 2.25 x 160
= Rs.360 SR S
5 g -['8 = 6 1l
Cost of mutton = 0.75 % 350 -
= Rs.262.5 S O 4
Cost of chicken = 2.35 x 170 8 "6
~ =Rs3995 = 33-28 5
Total amount spent on items = 94 =94
- Rs.360 + Rs.262.5 + Rs.399.5 3 E 3
= Rs. - = S Y ey

Sadaf has amount = Rs.1000
Further she has to pay Rs.22 along with
Rs.1000. ; 5 A
o Z o 1 S0 s &
e [55.—12'5 ~+(.2"ﬁ +§+§)|]

)
[
|5

implify Rl v A T
Simp = 2+[25 1% +(§—g +-%.+%)]]
v T e S e e 12 8N
. hg-lg+3x{Q +7*%0 1l _3_+[g_(§ 95 3%2
Sol. y g*lyg ~UF (g +7¢ N
3 K. e T SR AL SR AL A
- ll's'-‘%'{"é x(z+‘:,'x1§'6)}] 2.'" 5 —(‘E +(-1-§ 4,-6-)”
j : 3 [27 13 25 6
11 S M e 1 = e~ + G x%
= [—8'-(§+§><(;+7x§5)}1 :257 FRASTR R
: s = __'-.:.._— 13 2§ 6
2 i+ Ll e84 g+l 5 +75 x5
= [—g—r5+§x(4+4.)}] e
lk« "3 ¥l §+[25 _’-5—+§)]




Q.5.

Remaining amount = 12000 — 1000 = Rs 1100
House Expenditures = %‘(11000) = Rs.55600

Remaining amount = Rs.5500
203
=‘5- (5500

Given as debt

Total amount left

km per hour. How much time does he
require to reaehagoalafthe distance

1

of 53¢ kkm

Sol.

= Rs.2200

= 5500 - 2200
= Rs.3300 Ans.

A person is walking at a speed of 1 g

=
‘Sp‘eedofﬂwm': 1'§ kmperhr

Time spent

5 -

g
16 km

= Distance + Speed

T

=5il'6+1%
8L 9
=16 “8
81 8
736504
g .

52
i:
=4§ hours

Ans.

$2,

Rate of one paper = Rs.0.40

i Price of a book

§6. The rate of a piece of gift paper is RS2/,

0.40 per paper. How many pieces of
paper can we purchase for Rs.78.407

Total Cost = Rs.78.40
No. of paper pieces purchased = 78.40 + 0.40
I 7840 40
=100 T 100
= 7840 + 40
=196 Ans

7. ThepriceofabookuRs.GSO Two
~ friends have Rs. 325 and Rs. 296

respectively. Find how may rupees two
friends need more to buy that book?

=  Rs650
Total amount =  Rs.325 + Rs.296
P ‘= Re62@ '
Amount needed =  Rs.650 - Rs.621
4 Rs.29 Ans.

:. The price of a chenncal of 16 kg weight
is Rs.1429. 60. What is the price of 11.4
kg chemical?
- Price of 16 kg= Rs.1429.60
 Priceof 1 kg=

1429.60
16

Price of 11.4 kg =2 220% 11 4

= 1018.59 Ans.




chwirehehasmorethan (0
.‘\ul length.?

: , 1 L2
Milksupp]ied-toS"’famxly=2§l,§r C

R L | =
Total milk supplied =55 + 1% +273 ; g . | . o
5.6 R e | ‘Required length of wire = 185 feet='§"
=,2 -l-‘6 +-3 '\“ 3
33+7+14 . gj'nedlengthofwirezg-ﬁ+11%ﬁ
= 6 e : .
5 ' 39 67
=§g‘ - =4 6 ﬁ
=9 Litres Ans. 3 1174134 251
Q.2. Noshoen bought 12 metres cloth from 12 12
~ the market. She uwd half of cloth for s _15_21_%7‘
her'smt and "md of remaining for.her. : 951099
daughter’s smt. How much cloth left =TT
so_l.'WIthher? =% gzﬁm

Total cloth purchased =12 metres
€loth used for Nosheen’s suit = 6 metres

Cloth used for daughter’s suit = 6 x S
=2X2

) ‘ < -4metres

Colth left = 6 méters — 4 metes
= 2 metres Ans.

Q3. Ahmed required 18 % feet long wire fof
a cable oonnection. He joined two wirt
of length 9 feet and 11 l feet. Ho"

aba )

>

cem’s salary is Rs. 12000. negaveé
,-.oflussalaryasalm&halfofthe
aining salary for house
nditums ‘and gthe of the

naining as debt that was due upon
him. What is the remaining salary with

: alamount = Rs.12000 i
enarsalms =_-11§ x 12000
‘ = Rs.1000



Sol.

18,
Sol.

T14.
Sol.

(1.25 +{12.099 + 4.033)]
=  [125+3]
9.25 x [1.005 + (0.5 x (2.75 + 2.2 x 4.12)}]

= 2.95x[1.005 + (0.5 x(2.75 + 2.2 x 4.12)}}
= . 295%[1.005 + (0.5 x 5.15}]
2.25 % [1.005 + 2.575] s
=  225x358 ' '
= 8.055 Ans.

13.311 + [3.251 + (2.045 — (1.9x 1.06 - 1.02)]] -

13.311+(3.251+(2.045-(1.9% 1.06-1.02 )]

13.311 = [3.251 + {2.045 ~ (1.9 x 0.04)}]
13.311 + [3.251 + 1.969]

13.311 + 5.22

2,55 Ans.

0.6 % [3.9 x [0.5328 + (0.1 + 0.01 + 0.001)}]

= 0.6x139%(0.5328 +0.111)]

= 0.6 % [3.9x0.48] .

= 06x4.8

44238+ [1.047+{1.111x(9.261+ 5.432+2.345 )}[x1.01

4.4238+[1.047+(1.111x(9.261+7.7777)}}x1.01

2

0.6 % [3.9 % [0.5328 + (0.1 + 0.01 + 0.001)]]

3%23&(1.(;4741.111,:1.190811%1.01
| 4.4238+{1.047+ 2.30] x1.01
44238+ 3.349 x1,01

"= 100.014-[2.3584+0.044+(8.25- 5.235+1.255 ))))

= 100.014"[2.3584+(0.044+(8.25-6.49)))
= 100.014-[2.3584+(0.044+1.76))
= 100.014-[2.3584+0.025]

)

T 2 TS
LXBIEIRE 9.4

% hree families live together in a house.
The daily milk of one family is 5 litres

ar 1 the other two families use 1 % litres-
iy 1 . -

‘and 2 3 litres respectively. How much _

- milk would a milkman supply them?

Milk supplied to 1+ family = 5 5 ltr.

1

‘..ﬁféuppti_edtoznafamnyzla Itr,



B 5

Sol.

Sol.
.

4825 | _ 7 4 4 16 16 9
£ iRyl ' = lgrlg+GxF 5%l
2 R A 7 4 64 16
= 158 o 35+ (33-3‘)1 x%]
i ‘ =, 5. =
2B A":’ = B
4 -1 1 1 SRy =
12 e xlig+BF + xlm)}lx R 4,169
5 . [35 4 3 ' = ['54-{73"-}'1—5‘})(-5‘]
& R er IS SO | 7 20+16 9
3 ai.u-z%xui- +(3:-l“+2§ x13ghl x5 = BreEhs T sE
: A e LR 19819
3 % 'Es”‘i*‘?*z"m""‘i e b= sl
g . Dl 10221 7.15 9 :
g _1_.. & A ;

A s W 50 3% : o
= ;g*"_l;g}i; 1"‘2: AT Ang g :
S Rappxgixg : 2+ (125X385 4564 z.9+1.z)}1

9 e ' i E - XL
=i ECRaE A = [2+[{125%385+(564— 29+ 12 )}]
1 :‘% x?g”% = [2+(125x385+(564—-41)))

Yot s = [2+{l.25x;_:8541.54]]

e e = [2+{125x25
- fisn | 1, .4 =" 5

. [125 +12.080 + (145 + 21 x 1.2))

(1 25 +(12.099 + (1.45 + 2.1 x 1.23))}

; = [1.25+(12.099 + (1.45 + 2.583)]]

&..t




REZ

SoL'

48 - 25
TR 5
R 1
8 3 :
- 15 Am’

1

Il
H .
ale

10 2 21

érv-i gT.-

I
oo G @i ol ale ao mloj

.t
X
q
=
%

(L

)llx 2

[% +g x5 X m)nxz
%

,,(fzg x{14 +(33 *2% x116)11X2

5 ,5
xq +(3 o1 Xle)}}xz

W «‘lg"'il’u-*'

AE

g

o1 188
[;’,*éﬂf; ‘:»xg-l

.

oA 64—48 9

7 4 16 9
3+ {3+75 %51

7 20416 9

F+35 1551
7 369
3716%6) -

7 159
5% 36 %5 ]

2= .
.

8- ",ii o el

2+ (125X385+(564— 29+ 12 )]

[2+{1.25%3.85+(5.64 - 29+ 1.2 )}]

[24 (125 x3.85 +(5.64 - 4.1)}]
[2+ {125 x3.85 « 1.54)]
[2+(1.25%25}]

[2 +3.125]

5.125 Ans.

- [1.25 +{12.099 + (145 + 2.1 x 1.23)]]

|

11.25 +(12.099 + (1.45 + 21 x 1.23)}]

[1.25 +(12.099 + (1.45 + 2.583)}]



Sol.

[
©lo ©in: ©ie ©lr ©ln ©i®
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e
g]
X

&by
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s e wgnttard;
_ 8+16 24
o :
- = 23 Auvs

€7

'[li’ "'1%6 x[G% '-(e%vlej%-)]] ;

= [1% S lilii'-xls% -‘(‘Cf%.. xrl%m

RS9 - S L LR
= eyt (3 xag
v e
2 +70 X5 gl

5 11 51-44
= tz-l-'l'a)"t‘"rn

60
76

vl
> oAl

4 60
75+77 152

38

: Biydl 1
T R S T
o ST
S T A

€9
8

274 +[l§ x{l‘% +(2% +1

= 3g =15 =275 Ans.

1
3

1 \.
—-2'6)})(1%]

%
.

B V.8 & o M s 1 BN 2
. : =_2-1-; +ll'§'x(1§‘+.,(2'2‘ +1§-2§)}x1'§]

_————_— e W,



iii. Which process is known as the i

process of addition? Zx-by ’
Ans, Subtraction is known as the inverse of
- addition.
iv.  Write two integers less than 1.
Ans, 0,-1
Q.2 Fxll in the blanks.
i, In routine, we do not use sign with
7 e rs . .
il _ig:. is neither a positive nor a negative
integer.
iii.  The product of two integers of opposite signs is a
: integer. _
iv.  Integers are also known as.
Answers: N
i. Positive ., 1. 0 iii. negative iv. directed
Q.3. Tick (v) the correct answer.
i.  The numerical value of 55 is:
a, 55 b.5 c.-b d. =55
ii.  Division of an integer is n(;’t pqssi‘l:)ile't!yteg
itive integer . negative integer
: f:: ' ' d. its absolute value
i, N+ D=2
a. 10 b4 c.-10 d.+4
iv., [ED+H-D-H=2
a. +1 b1y a2 d. 42
V. 1)+ (-1 =? o
a. +1 b. -1 ¢ -2 d. 1
1. 55 1.0 Ki, +4
iv. =1 v. +1

4.
- |-‘A

Brackets tell us the order of solvmg of the
sgion, A

Drder of Brackets

~ Brackets are solved in the following order.,
Bar or vinculum
Parenthesis

‘Braces

] Square Brackets

ST

~ Simplification rule is also called BODMAS rule.
‘means to perform the four operation as

BO for Brackets of
D for Division

M for Multiplication
A for Addition

S for subtraction

Zyargise 5.1
. Simplify the following;

1 1 1 2 1
l'lﬁ +!l‘; x[li-6+13 -1_;’))]



i DX E2) X6 X (@) G4 B G155+ (30 | ix s (4972)  (rraf LS
Sol, —2x12=-24 ="'155‘ Sl = +372 '
G [(+2) X (+9)] X (~4) +31 =154
Sol. =+18x(-4) ==5 =+3

= "‘72 .
vi. [(-18) x )] x(2) i fzm in the following bom;'sg
Sol. R g = vii o=
=-H4dx2 4 16 :
==108 - _§=_2 vii, 5 =2x[2]
C v @5 X (B) X (-16) | : )
Sol. ) . = vill, "= =
= (-200) % (-16) o i 2: 2 x[]
= 3200 =L _
vi.  [(-100) x (-15)] x (3) g0 - k. Ty =8x[g
Sol. |
=+1500 %3 g 72
= 4500 Aus. ' Sl N
s R
Q.1. Sol ¢ ;;;)ﬂle quotient of the following.
i. (-42) + (=7) V. (-126) + (+14) S " 4252 i (":fgé +(-28)
; 42 _ 126 = T 418 o DR
RO (BT L RO e e B =14 =-7
ii.  (+36) + (+9) vi. | (+34) + (17) - (-185) + (+15) V. (<99)+(+11)
+36 Sol. =35 -9 =195 Sophe.
Sol, ="jp = $ = T T 415 Sol. =777 =-9
iii.  (465) + 45) vii. (+2gg()’ +(-13) =13 Vi (42000) (40}
+66 . 2260 (~480) + (~120 ;
Sol. =5 =+13 Sol. =75 =-20 e ) Bl i +fggo
iv. (27 +(-3) viii. (-189) + (-21) = 120 Gep
o 'y -18 = gy
Sol.. ='_'_2_37"=+9 801. ="_'1'§i9"=+9 +4. Bty
}“Q‘S » %



iv.  (+18)—(+5) =(+11) z -z:

v. (+6) - (-3)=+9.
vi. (-16)—(+13)=- 2;91
3. Simplify the following.
g [(-8)-(-6)] - (—4) iv. [(-18)—(+12)]-(-19)

Sol. =[-8+6]+4 Sol. =[-18-12]+19
=-2+4 L =-30+19
3 2 - 11 ’
ii.  [(+11)-(+5)}++19) v.[(+23) - (-9)] - (+29)
Sol. =[+11-5]-19 Sol. = [+23 + 8] — 29
=+6-19 =+432-29
=-13 =43
iii. [(-18)—(-18)]-(+17) il (+100)++50) }-+25) .
Sol.[( =[-13 + 18] - 17 Sol. =[+100-50] - 25
=+5—17=—12 =ggTZS

Q4. Subtract-111 from +111
Sol.
=(+111) - (-111)
=+ 111+ 111
=+ 222 Ans. L N
Q.5. The sum of two integers is —99. One
integer is — 66, find the other.
Sol. M
‘ =(-99) - (-66)
=-99 + 66 =33 :
Q.1. Fill in the boxes.
i e)x-3)=[s
i,  (9x[-9]=81

»
fii. (-2)x(+8)=

x—~T=56
—253( '=-75
Find the product
+3, +4
=43 x+4 =412
-6,-2
A

=-6x-2=412.
*5,—5
=+5X—5=—25
.7’.'.8
= ~Tx+8=-56
-9, 4

- =20x-4=+36
43, -8
=+3x78=-24
0—10,—5
=-10x -5=+ 50
+11,-7
=4+ 11 x-7T==-77

%511 =121

=+l X+l=4%1
=1 Ans.

viil, (QIx()= E 9

viii, ()% (2) =[]

of the following.
ix. -9,-8
Sol.
=-9x—-8=+72
x. +6, +12
Sol. =+6x+12=+72
xi. -3’4‘50
Sol.
=—3x+ 50
o ==150
xii, -7,4+7
Sol.
' =-Tx4+7=-49
xiii. -4,-9
Sol.
=-4 x-9
=436
xiv. -5,-13
Sol.
=-Hx-13
=465
xv. +110,-8
Sol.
1 =+110x -8
=-880

Q3. Simplify each of the following
1) x 1% (<1) x (1)



v. (D+E2)+D)

Q.3. Fill in the boxes.

i.(3) + -6)=[3]

i, (+7) + (+3) = [+10]

iii. (-8) + (-9) =
iv. (+5) + =(+7)

Q4. Solve the following.

i [(+2) + (38)] + (+4)
[2 + 3] + (+4)

Sol. =
= 5+4=9

et 2

Sol. '
N N
7[€]5 4 8 2 a1 0 1 2 3 4

vi.  (-8)+ (—4) +(-2)

‘Sol.
—
R =R

Q.2. Find the sum of the following.

i (#5) +(+2) . (+49) + (47 i

Sol. +7 Sol. 16

iii, () +(-6) iv. (-8+(-8)

Sol. -10 Sol. “16

v. (+10) + (-2) vi. (<7) +(+6)

Sol. 8 ) Sol. -1

vii. (-11) + (+7) viii. (+3) + (-9)

Sol. —4 _ Sol. -6

ix. (+5)+ (-8) . (-13) + (-11)

Sol. -3 Sol. -24

xi.  (+12) + (+23) xitt  (-27) + (-19)

Sol. +35 ; Sol. 46

v.[[11] + (5)=-186 .
vi. +(-17) = (+2)
vii. (100)+ [-50]=(+50)
viii.(-11) + :
=(-111)

(=11) = (-13) = (+2)

RS L S Y YTV B T, o7
[(=f+(=1)] + (-5) =-8+4=a @2
=[-1-1]-5 V(+25)+|(+25)+(+50)]
=—2-5=-7 Sol.= 25 + [25 + 50]
[(+3)+(+5)1+(-1) - =25+ 75=100
=[+3+5] -1 vi. (~18)+[(25) + (-30)]
=8-1=17 Sol. =(-18) + [25- 30]
[(=2)+(-8)1+(+4) =-18425 - 30
= [-2 - 6] +4 =25 - 48=—23

ENareisa 4.3

Simplify the following. '
(+4) - (+1) Sol. =+23-15

=+4-1 =8 :
=43 viii. (—42) - (-21) |
(+8) — (+5) Sol. =-42+21 :
=48-5 ‘ =-21 :
=43 ix. (+69) - (-21) '
(~6) — (-2) Sol. =469 +21

=-6+2. =90 |
=—4 X.  (+49) — (+81) '
-7 -(-9) Sol. e
=-T7+9 =+49 - 81

=2 : =-32

(+15) — (~4) xi.  (+102) - (-133)

, =+15+4 Sol. =102+ 133

=19 =235

(-18) - (+7) xil.  (~195) — (-165)
=-18-7 Sol. =-195+165

= -25 =-30

(+23) — (+15)
Fill in the blanks. :
(42) = (+9) =T

(~8) —(+4) =~ 12



Q—Os-
i.

Sol.
ii.

Sol.
Q.e.

i.
Sol.
il
Sol.
Q.7.
Sol.

Q.8.

~ Sol.

Q.9.

i.
Sol.
i,
Sol.
i
Sol.
iv,
Sol.
V.
Sol.

vi
Sol.

Write the integers between (7://

2and 6 iii. -6and-1
3,4,5 Sol. -5, —4,-3,-2
~2and 3 iv. -3and4
-1,0,1,2 Sol. -2,-1,0,1,2,3

Give two possible integers in following

0=< i, >-3
1,2 Sol. -2,-1
<0 o

-1,-2

Write three integers smaller than 2.
1,0,-1

Write four integers greater than -2,
-1,0,1,2

Find thé numerical values of each of.

the following.

3[3[ =3 =  Numerical value of 3 is 3.

-I—-él =85 1= | Numerical value of -8 is 8,

lli =86 = ‘Numerical value o_f. 5is b

Tg QJ =9 =>~ " Numerical value of -9 is 9.

-lf 6| =6 =  Numerical value of -6 13 6.

|3 2| = =  Numerical value of —2is 2
Q.10. Write the integer whose numerical

%a’a__lne is 0.

Sol.

Y .

'Lll Arrange the

given mteggrs}/
asceng,u;g and descending order.
Ascending order = -4, -2, 0, 1
- Descending order = 1, 0, -2, 4
1,-3,4,0
Ascending order = —4, -3, 0, 1
Descending order = 1, 0, -3, —4
-2,-3,3,2
Ascending order =-3,-2, 2,3
Descgnding order =3, 2, -2, -3

1: XE rLJ 38 Cu«.,

Use the number line to write the sum.
-7 + (+3)

£ 76 5
(~2) + ()

(+5) = (+1)

VERESEL S ORI Yo G o
(+2) + (-3) 2

‘ D Y e O T N e :



L

The bracket vinculu{n is denoted by /<>

ES C D = { 3 ey S
=2 c- | &3 1 =l 12 = T
1id. 8 1 is called.
a- parenthesis ) ST braces
a. vinculuarm . box brackets
AV . After simplifying (L3 C(2+4:-2><1—-3)} we get
2. R & < 3 = -
c. =3 ad. —1
~ . [1-2 =<(5 — (1L + 6 = 2 )OIl
A =L
8- 2 = =
= : 2
e 3 - d. a
Answers:
- i. division ii. iii. Box paranthesis
X a
AV . 2 V. 3

SOLVED PTB MATH-6 CH:6,7,8




y

Q4. llx-i,y=2andz=6,thenﬁpdthe

r-g

v.

value of ,@«..;—z.é’

2x~83=7 R S e .

Put x=4,2z=5 abdvoSo
2x—~z=2(4)-5

-8-5=3
bxt=7 e 4

.P(xt. x = 4. above. So

= b{4)? .
=5(16) = 80 .
x¥y=s?
Put. x:Q,yzzahOVe
x+y=4+?
x+y=6

- X4+y~-z2=7

Put x=4,y=2, z=>5above So
x+y-z=4+42-0

=6-56=1
2xy-yz+ty="?
Put’ x=4,y=2 z=5 above.So
2xy —yz+y ¥ 24)(2) - (2)(5) + 2

=16— 10+2=18 10 8
xt+22-2y="?
Put x=4,y=2 z=5 above. So
X2 + 22 - 2y = (4 - (5)° - 2(2)
A =16-26- 4=-9-4=-13
ﬁﬂ+&n -y=? :
Pu'. x=4, y=2, z=5 above.So
4t 4 27 — y = 4(4) + 22) (5) — A

= 4(16)+20 -2 = £ 20— 2 = 82

FE

<

Vil

" Put.

P

iv.

1

;E

Ayz-7843x¥=7 Rev fz8
Put. x=4,y=2 2=5 sbove. So— =
dyz -'22+ 3x2 = 4(2) (5) - (5P 4 341 j
=40~ 25+4& 15 + 48
=63 . Ans,
4x2 - 8y*z - 8Bxz =?
x=4.y=2, z=5 above. So
4x? - 3y?z — 8xy
-4(4)“ (2R (5) - 8(4) (5) - 8(4)(5)
‘= 4(16) ~ 156(4) ~ 160
A =64-60-160=~156 Ans.
W

Objactive Exereise 3
Answerthefollowmgqueshons.
Define the sentence.

A group of words that makes a complete sense is
called as sentence.

What is meant by an open statement?

. The statement about which we cant decide

which is true and which is false, until we get

further information. i

What is called the number that makes an

open statement true?

it'is ealled satisfying statement.

What is a variable?

In algebra, a letter is used as symbol of any

number or value which is called a variable.

Define the evaluation.

The pﬁ&ss of finding the numencal value of an
exprésgion by using numbers  in’ place of

variables.




iv.

=7a-b-c  Ans. gw,é};g
a-2b+c,5b-2aand 4a-3b———

=(a—2b+c)+(5b—2a)+ (-4a - 3b)

© =a-2b4+c+5b—-2a-4a-3b

v.
Sol.
vi.
Sol.

Q.2
i

=a-2a-4a-2b+565b-3b+c
=-fa+3b-3b+c

=-Ba+¢c Ans. -
302 + 4m -5n?, 71 — 8m — 6n?, 412 — 9m -Tn?

Sum = 324+4m-5n%+T2-8m—6n3+4/2-9m~Tn?

=142-13m - 1809
p‘ﬂpq:rq’.p'-zpﬁq%-p’-'q’

‘Sum = p? +2pq +g° + P~ 2pq + a* - p ~a?

=p?+q?
Subtract the second expression from
theﬁm- -
iii.
-3a-Tb-c 2x% - 3x2+x+5
-3a ¥ 8b ¥ 6¢c v4x3+56x2+3x 18
—Ba+b+bc —2x2 —8xé + 4x - 3
iv. : Y
19p—-q +r 3a~3b + 4c - 6d
-Sp ¥3q T 4r ~4aF6bFec+7d
11p+ 29 +56r -a 4+ 3b 4+ 6c - 13d
s XE-3xy+Ty2-2
F4*F6xyFy? +5 v
5x? +3xy +8y? -7 s 5 2

Q.3.
Sol.,

iv.

B -2y Bx=89))]

Simplify.

= [3x2 - [x? ~ 10xy + 6y%]]

= [3x2 — x2 4 10xy — €y?]

= 2x2 4+ 10xy - 6y*

x —[2y ~ (3x ~ (2y + 32)}]

=x 1 [2y - [8x - 2y - 3z)]

=x - [2y - 3x + 2y + 3z]

=X~ [3x+ 4y + 3z}
=x+3x-4y-3z
=4'x-4y-3z. Ans,

2a—[8a - (4a - (Ba - 2a+3b)}]
= 2a - [3a - [4a — (3b— 2a — 3b)))
=2a-[3a- {4a - (.—-23)"

=2a~ [3a— (4a + 2a}]

= 2a - [3a - (Bajl

= 2a - [3a - 6a]

= 2a [~ 3a]

=2a+3a

=ba Ans.,

Rev.

[.

s

”
s
L~

~1~5m~[2]-m~ {3l -2m - (I + 2m)}]

=—0-56m-—[2l-m~ 3 -2m—1 - 2m]]

=—l=bm-[2-m-(2-4m)]
=—1=5m—[2 - m -2 +4m]
=~1-b5m—[3m]
=~[-bm~im
=~[-8m




e ————— ===

(i) axb=bxa Cff’/é g o~
SOL : ? ‘Sn),ézn

LHS LHS=RHS (&

(3)x(2)=(2)x(3) RHS v (vii) a®-b?=(a+b)(a-b) R
6=6 Sol.

So, . : LHS
LHS=RHS : =a?-b?=(3)r-(22=9-4=5

(iii) (a+b)+c=a+(b+e) : RHS

Sol. “ =(a+b)(a=b)=(8+2)(3-2)

LH.S L =B=5
=(3+2)+1=6 So,

RHS LHS=RHS
za+(b+ec)=(3)+(2+1)=6 Ans,

i HS=RHS Review Exsreise S

(iv) (axb)xe=ax(bxc) Q.1. Find the sum of

Sol. : ;

L.H.S i. 3x" —x+7 and -2x" + 5x — 8
=(3x2x1=3x(@2x1) RHS Sol. :

6=6 2 BtoxsT-2¢5x-8

So, =  xX4dx+7-8
LHS=RHS = X2 +4x -1 :

(v) ax(b+c)=axb+axe ii. b6x?-4x+2and-3x-Tx+4

Sol. y Sol.

LH.S i S 24
—ax(b+o)=(3)x2+1)=9 . ox?-4x+2

So, C 3%t -Tx+4
LHS=RHS . 2x2 - 11x+6

(vi) ax(b-c)=axb-axe =2x2~11x%+6 Ans. 3

I?.ol—lis b iii. 2a-38b+4cand 5a+2b-5c

S Sol. it
R;{s=ﬂ><(b-c)=(3):'<(2—1)=3 — (28 8b + 46) + (5a + 2b - 56)

_ ' =2a-—3b + 4c + 5a + 2b - 5¢
Rich-axe=xe) e =2a + 5a ~ 3b + 2b + 4¢ - be




Q.3. Ifa=1,b=1andc=9,then plpl'gthat
a-b+ec=9 7

Sol.

LHS .
=a-b+c

RHS

=

Sot l '
LHS=RHS
=(1)-{1)+9=9 Ans.

Q4. If a = 10, b = - 10 and ¢ = 4, then prove
that axb+25c=0.

Sol. :

LHS y
= a x b+ 25¢ =(10) x (-10) + 25(4)

- =-100+100=0

RH.S

i =0

So,
LHS=RHS

Q5 HKx=landy=1, l;lmnprovethat(x+y)2
=x*+2xy + y*

Sol.

LHS
=(x+yP=(1+12=(2P=4"

RHS
= x2 + 2xy +y2 = (12 + 2(1)1) + (17
=1+2+1=4

So,
LHS=RHS i ; :

Q6. Ifx=2andy= lthenpmvethat(x—y)-‘

i-r-%w+w éés,

=(x-yr=(2-12=(102=1

=x? - 2xy + y? =(2)° - 2(2X1) + (1
=4-44+1=1

LHS =RHS

7. Evaluate2-[2-{2-(2- 2-x)})] when

x=T

=2-[2-{2-2-2-x)l

=2-[2-(2-(2-2+1)
=2-[2-{2-(D}
=2-[2-{1))

=2-1]

=2-1

=1 Ans.

. Ifa=1,b=3and ¢ = 1, their evaluate

b? - 4ac.

= b2 - 4ac = (8)° - 4(1X1)
=9-5=5Ans,

. Ifa=3,b=2and c = 1, then prove that.

a+b=b+a

=3+ =@+ @ RHS

5=5

LHS=RHS




1. Evaluate the following whena=2,b=1

" 6a -2b - 2¢ @

ande=1. L
@i a+b ) ;16(2;2-2(1)—2(1)=8Ans.
Sol. +bh*+ ¢
=a+b=(2)+(1) =3 Ans.
(ii) a-c =(2”+ (18 +(1)2=
Sol. ooy 844 b2 -2 : e
=(2)-(1)=1Ans. . )'—T
(iii) b+e ;
Sol. :
=(1)+(1)=2 Ans. 2 +(12)2—<1}2 5 i
(iv) a+b+c 5 e
Sol. ? )_a_ b
=(2) 4 (1) +(1) = 4 Ans. LU TS
(vy a-b
Sol. ,
. — (1) — (D) = 0 A _2) @)
o ;(-I:H(‘lz)-OAns. ‘(1)+(1)=2+1=3An8-
Sol. ' ) &_'_ac
=(2)-(1)4 (1) =2 Ans. be " be
(vii) ab+be
Sol.. @11 (2x1)
=(2)(1)+(1)(1)=3 Ans, * =M i =2+2=4Ans.
(Viii)“b i ':, If 6
Sol. E a =5 and b=-3 then prove that a+b=2,
=4(2)(1) = 8 Ans. !
(ix) abe H.S
Sol. =a+b=(5)+(-3)=5-3=
. =@@1)=2Ans. Hs A r e ke
(x) ab-be+ac Jun
Sel. - =%\
=(2)(1)-(1) (1) +(2)(2)= 3 Ans.
x LHS=RHS

e

\
» %




‘= [6a + [3a +(3a +b))] +6e

Sol.

xiii.
Sol.

= [6a + {3a + 3a + bj] + 6¢
=[6a + (6a + b}l + 6¢

= [6a + 6a + bl + 6¢
=[12a + b} +6¢

—N\
. ‘/’.‘
=12a + b+ 6¢c Ans.

[2x2 - xy — [xy - (2x x2 - y2)]]

= [2x2-xy-txy—(x’—y2)“

= [2x% - xy — xy —x2 + y2] . %
= (2x2 —xy -3y +x* - ¥l

= [2x2 — 2xy + x* - ¥

= [(312 . 2xy.“ Y”)]

= [3x2 - 2xy - ¥l

=3x2~-2xy—y’Ans.

8(3 (4a + 5b) - 2(6a - 5b)]

= 8[12a + 15b — 12a + 10b]
= 8{12a - 12a + 15b + 10b]
= 8[25b}

[11a - {5b-3(2a+b))]

= [11a - (5b - 6a - 3b}]
=[11a- (2b - 6al] :
=[11a-2b +6al :
=[11a+6a - 2b]

= ll7a P 2b]

=17a- 2b Ans.

fat+e+la-ec+(a+b+ b-c)ll

=la+c+la—c+(a+b+ b=c)ll
- [a+c+{a-c+(a+b4b’-c)ll
[V

il .

=la+tc+la~c+(a+2b-c)l
=latc+la-c+a+2b—cll
=la+c+{2a+2b-2¢)]
=la+c+2a+2b-2)
=la+2a42b+e-2
=[3a+42b-¢]

=3a+2b~c Ans.

&

iv. Bx- [Sy‘— [4x - (5y — 6x - 7y )1120)
ol. - ‘

= 0x ~ [3y — [4x — (5y - 6x + Ty)l]
= bx - [3y — [4x ~ By + 6x - Ty]]
= 5x— [3y - [4x + 6x — by - Ty}l
= bx - [3y - [10x - 12y}]

=5x - [3y- 10x + 12]

= 5x - [-10x + 15y)

= bx+ 10z - 15y

= 15x — 15y Ans.

2(x? - y%) - 8lx* — [y* — x2 4 (x2— y2-x?)}]

= 2x? - y%) - 3fx? — [y2 ~ x2 + (x7 — y? + x2)}}
=2x?-y?) - 3x2 - (y? - x2 + (222 — y2)})

= 20c? - y%) - 3x? - {y? —x* + 2x? ~ y2}|

= 2(x? - %) - 3[x2 — {x2]]

=2(x? - y2)=3[x? - x%

= 9x% - %y - 3 Ans.




Q.1
(i)
Sol.

(i)
- sol.

(iid)

soll

(iv)
Sol.

Simplify the following expressions,
l[a+lat(at+ta+a))]

=la+la+(a+a+all
= [a + (4a]

= [a +4a)

=5a Ans.

[7x - [4x + (3x - 2x)}]

=[Tx - [4x + ()]
={Tx -4z +x}}
=[7x-6x]

= [2x]

=2x Ans,

[61 - {2m + (6m ~ 3m)}]

=[5! - {2m + (6m - 3m)}]
=[5/ - {2m + 6m - 3m}]

= (6 - (5m]

=[5/ - 5m]

=5/ - 5m = 5( - m)Ans.
By +(x+x+(x- 2x+x)}]

=2y +{x+ x4 (x~ 2x+x))]

=[2y+(x+x+(x-2x-x)
£ 2y +fx + x - 2x}]

= [2y + {2x - 2x]]
= [2y]

= 2y Ans.

[x® + [2xy + (3y2 - 2y9)))}]

C x4 (2 + G

= [x2+ (2xy + y2)]

= [x%+ 2xy + %
=x?+ 2xy + y2 Ans,
[(9a‘+(‘6a*+(a’+ Di

= [(9a* + [5a? + (a2 + 1)1

= [[9a* + [6a? + 1}]
= [{9at + 6a? + 1]]
=9a%+6a%+ 1 Ans,

[x2+ [ 3x2 — (x2 + 23 )]

= [x% + (3x2 - (3x2)}]

= [x2 4 (3x2 - 3]

= [xY &

£x* Ans,

(71 -2(3 (51 -m) -2 (41 + m)}]

=T -2 [15] - 8m - 81 - 2m]

- =7-2(15/- 8! - 3m - 2m]

=Tl -2(7] - 5m)
=Tl - 141 + 10m

[6a+{3a+(2a+ a+b )} +6¢

o

=[6a+{8a+(2a+ a+b )} +6¢
= [6a + (8a +(2a+a + b)}] +6¢




() (x-xty? +xy) -y~ x4 x99 @4\
Sol. )
W—xiylixly
Fx3ye Lyl £xy!
£y St

=x%+ %%y - 9 - xy° Ans, =

(x)  (x?-2xy +y*) - (2x* - xy +y%) 4
Sol.

= (3x% - fxy + 352 - (%2 - xy + ¥%)

3x% - xy + 3y*

2% Fxy +y!

x? —Bbxy + 2y?

=x? - 5xy + 2! Ans;

Subtract 2l - 3m - n from [ - 4m - 6n.

{—4m -6n
+20F3mFn
-l-m-5n

LS, \gg

J =—{—-m-5nAns, ‘
Q.3. Subtract 2a’ - 3a® + 5a + 5 from 5a’ + a’ +
28-3.

Sol. .
bad+at+2a-3

 +2a%F3a%+bath
389+ 4a7 - 3a - B

‘ =+ 347+ 4a? - 30 - 8 Ans. 5t

Q4. Subtract 3x5 - 4x* + 8x* - 6 form Bx5 + 5x*
-3x3+ 4x + 2. 3

i
.~ Sol. A Ff“’

Bx8 + 5xf - 3x 4 Ax + 2

30 F4cEB  F6
5x3+0x - 11x" + 4x + 8

=6x5+0x¢ - 11x* +dx + B Ans, .
Q5 fA=a+b+c,B=a-b+c,C=a+b-¢

~ and D =-a-b-cthen find;

(i A-B "

=A-B
=fa+b+e)~(a-b+c)
={a+b+ec-a+b-0o
=2b Ans,

(i) B-C

Sol. :
=[la-b+e)-(a+b-e)
=la-b+c-a~b+c
=-2b+2c=2(c-b)Ans,

(i) A-C )

=A-C
=lla+b+e)-(a+b-cl
" =la+b+c-a-b4+cl

= 2¢c Ans,

(ivy C-D

Sol.
=C-Dw.,
=lla+b-c)-(~a-b=-c¢)
=la+b-c+a+b+c|
=2a+2b=2(a+b) Ans.




iI“

Q.1
(i)
Sol.

(ii)
Sol.

(iii)
Sol.

(iv)

Sel.

Simplify the following.
(6x) - (4x)

6x
4 4x
2 »

=2x Ans,
(13a) - (2a)

13a
% 2a
11a

= 11a Ans,
(x+1)-(x-1)

=2 Ans,
(m-n)~-(m+n)

m-n
f +m*n
-9n-
=—2n Ans, Be |

v) (2p+q+2r)-(p+q+r) (‘;4,/
Sol. ' 2
2p+q+2r

tp tqir
p+r

=p+rAns,
(vi) (2)-(x2-x%+2x-1)
Sol.
+2

Fxd £x2+2%+1 .
x? —x2-2x+3

. =x3—x?-2x+3 Ans.
(vii) (x3+x2y+xy? +y?) - (x% + xy? + 1)
Sol.
x4 x%y + xy? + y8
fx%y * xy? £l
x3 +yd -1
=x34y3-1Ans,

(viii) (3x*+6xy +9y*) - (2x* - Bxy* + xy*)
Sol. :
3x% + bxy + 9y*
+2x2  3xy? + xy?
X34 6xy + 9y 4+ Ixy?-xy?

= x? + 6xy + 9y? + 2xy? Ans,




jii.  Smn +2im +nl, 3n'1+2nin+lm, 3lm + 2nl+mn

g3

Jmn + 2/m + ol
2mn + [m +3nl,
mn + 3m +2nl

- 6mn + 6Im + 6nl
" 6(lm +mn +nl)

iv. *2p+3q,3q+3r,r+3p

Sol.

V.

Sol.

Q.5.

Sal,

2p+3q
+3q +3r
3p +r
Bp+6q +4r1
b+l,a+b+2,3,a+1

b+1
y a+h +2
+3
fa +1,
2a+2b+ 7
Find A+B+C, when
A=2a, B=3b, C=4c

v

=A+B+C‘
=(2a)+(3b)+(4c)
- =2a+3bs4c Ans.

Sol.

Sol.

iv.

- Sol.

V.

Sol.

A=x+y,B=x-2y, C=8y-x @/ S
=A+B+C

=(x+y) +(x—2y) +(3y - x)
=X+Yy+Xx-2y+3y—-x

=X+ X-X+y—2y+3y

=X+ 2y <
A-s&;st,B:gﬂ.Cas*-zz

=A+B+C '
=(8+st)+(g+1t)+(s+2g)
=s+st+g+t+s+2g

=2s+st+t+3g Ans,
A=p+q+r,B=p+q-2r,C=p-2q-r

=A+B+C
=(ptq+n)+(p+q-2ri+(p-2q9~-r)
=p+q+4r+p+q-2r+p-2q-r
=p+p+p+a+qg-2q-2r

=3p +(~2r)

=3p-2r Ans.
A=Im+mn,B=mn+nl,c=nl+!m

=A+B+C

=({m + mn) + (mn + nf) + (ol + Im)
=Im 4+ mn+ mn + nl +nl + Im
=!m +Im + mn + mn +n + nl
=2Im + 2mn + 2nl
=2m+mn+nl) Ans,




- Mehak, Naz and Kinza have m, 2n and

. 31 books ly. How many books
have they altogether?
Books of Mehak = m

. Books of Naz = 2n ]
Books of Kinza = 8 ~ >
Total books = m + 2n + 3. Ans.

Zain had x candies. He bought more 2x
eandieoandycundie&.ﬂndthesmof
theeandieathathehasnow

Zain had .candies =X

~ He bought mmcandies=-§*andy

ii. 6m?, 2m?, 1, 3m? 1
Sol. T @/

6m?3- :
+2m?

+1
+3m?

6m? + 5m? 4 1

%+ 5m? + 1 Ans.
bﬂ' 38‘), 4‘85.2&’

i s
Sol. XY, ¥4, Xy
x4
Xy ‘
» +y2
_—=xy
l’—zxy+,ﬂ
.33’ ~2xy + 2
vi. y ~2q, T,
e P, ~2q,1,—q
p
~2q
i =T.
__P-3q-r
=p_3q-r

Sum of candies =x4+2x+y Fin
=3x+y Ans. expxi::::::m “mmmx algebraic
8_. / ddthe.following "*z‘b*b'"’-ﬁb+b'.i'—ab-bs
i &b, be, be,be, ii. 2x2y, %7, xy* higt
SOL- 3 Sol. E’i-ia.b-}-[ﬁ
I x?y» ‘ J a8 — nh_bﬁ
-'-.,: < +xy* - 3a%—ab + b?
: , Ixdy +xyt Xy + 2ty 4y xdy 4ox2 g o V. %
A ab + Jbe ‘= 3xy (8x + y) Ans. ' i e
= b(a + 3¢) Ans. —“&Oy+z.ay+,a
$ . x!)y +2y’+x"
¢ oL 2%y 4 x2y — y¥
- J&('" X% ¢ 2ve & ¥ '




3453 s vii. 1la + 6a + 2a +9b .
Bme L e
Sol. Sol. 6a
4x. . a 2a
fa +9b
x S 19 + 9
x . 10a+3b =193 +9b Ans.
5 =10a+3b Ans. Viii. m +2n43n + 4n
ix v. Sp+g+2q Sol.
Sol. ' +m
ii. 2y + 3y + 4y il 2n
Bob. - ©\n 3 28
2y +2p , 4n .
3y S5p+q 9n + m
" sy =5p+q Ans n+m  Ans.
gy vi. X+y+x+ly '
jiih. 6m+3m+m
86]. . _x:
; Bm i ¥
i . 2y
0m 2x + 3y

=10m Ans.

she has now?

e Y

-2x+8y Ans.

X, X4y +z+2x 4+ \
g4

‘. ft
2p ;
3p+3p+r

‘Tfra has'chocolates = 2p
She bought more chocolates = g
- Total chocolates = 2p + q

=3p+8q+rAns

- Answer the following questions,

~ Ifra had 2p chocolates, She bought q
more chocolates. How many chocolates

[




iii. xy.xy 2| v. papapa
Sol. (—/ Sol.
» =xiy? p'q’
iv. mmmm vi. abc.abe
Sol. » Sol.
: =mt s afhic?
Q.4. Separate the terms of the following
algebraic sentences. y
i. 2a + 3b
Sol. vi. 2Im - 3mn - 4nl
=2a+38b 3‘:‘- RIS
= 2Zim —Jmn =
SN = %lm ~3mh , ~4n!
i 50 =Sty A vii, 8xy + dxly +9
Sol. - Sol.
=!~-2m+4n = 3xy + 4x*y +9
=1, 2mand4n  Ans. =3xy , 4x% , 9
iif, 9% - 12b% viii. 2 xy + 5 vz + g %2
801-' sgl‘
= 9a2% - 1 2b* a2 1 3
=9a? , -12b? =X hgyRtpxE
iv. pr+2¢g*-1r® =5ly:%ﬁm<i§x?
Sol.
=pi+ 212 ix. %-&-% +%
=p*,2¢*, 12 . Sol.
V. a+8b—4de Al blie
.. Sol. “btcta
. =p+Bb-dc e O
—o.Gband-4c -Anm b te .

Q5. Write the algebraic expressions

. adding the following terms.
_i. a b : 9 1 S g (_V
Sol. Vi Sibrs
a+b Ang, Sol.
e T
= x4+ (~y) r ;::;_ 16a% - 8b*
x=¥ Ans,
i, m,-n = 16a* 4('—8&')
= 16a? - 8b® Ans,
'.l,m.—n vidi. !:,.:;'.ll!
e Sol,
l+m-n Er e
P Pq, qr m n !
ix.  2ab, 4nc, -3be
P+ pq+qrAns Sol.
xy*, xz#, yzt = 2ab, 4ac, ~3be
= Zab+ 4ac+{-3b¢)
' =2ab+ 4ac-3be °

Y




—————
Half of 1 llmltiplidd by the difference of n

and m. (m is less than n) g @7

{
Ex(n—m)

T_-‘ vl = A
EREYEIBE .

Q.1. Write each of the following word
expressions into algebraic sentences.

i.' xplusy

Sol. . Write the co-eﬂicient, base and
. A5 Pross exponent of the following.
ii. aminush bx ,
Sol. - o iv. -6k
a-h Ana. \ b-efficient =% kel :
iii,  m multiplied by n o i Co-eflicient = - 6
Sol. . i
mxn Ans. ,’” eugt-:_l i x:ouen K
.v. pdivided by q 16p? v.ga'
B Ans. . A rafficient = 16 Co-efficient = %
q S0 =
v.  Thesum of 8x and 2y . " ' Base = q
Sol. . ponent = 2 Exponent = -1 P
3x+ 2y Ans, : vi. %,—: .
vi. The difference of 5a and 4b \ Sol.
Sol. 1 . r gfficient = 18 ' 1
Ga~-4b Ans. s Co-e_fﬁdentgg
vii. Theproductofxandy' Bonent = 3 Base = y
Sol. 3 Exponent = -2
& . 3. Write the followmg in the exponential
viii, The sum of the p and q divided by r. & form:
Sob. Caaa. e B s
gtq \ Sol .
r B

L&é-\:




T | o e -
Sol. l=15x2' Y
Q.1. Separate true, false and open m + 15 = 20 m
‘sbatemen?s. m=20-15 !%_3.30
i, 5isanatural number. m=35 Ans, 3
‘Ans, True sentence bx = 48 m =25 Ans
i, (5+4) 2= (6+8)+2 i . il ‘Bmw 8
Ans. Truesentence ‘ : 48 Sol.
iii. 9 is a prime number. 2 X=g=8 o dm=g
Ans. Falze sentence x = 8i Ans, m:‘g‘
iv. 8+[]=4 bxx=175 : m_f5 e
: g : N 8.
Ans. Opensentence Bxx=175 X, x-03=04
V. 5XA=15’0 Y A 75 .
Ans. Open sentence X="p- =15 x-03=04
vi. -1 is a whole number x=15 Ang; x=044+03
‘Ans. False sentence oty : x=07
vil. Bx8m&X8 - g 1 el
Ans. False sentence (2mX3 b 800
viii. 02+0.5=[] 6m=4’2=‘14"3’ X=T%2
Ans. Open sentence 42 s %14
Jix. 2isthe only even prime number. g :ol. S+p=11
Ans. Trueseatence > m=7 5+p=11
Q.2. Replace the unknowns by the numbers Vii.5 +m =15 p=11-5
to make the statement true. - e g;—-e
i. x+2=6 i, ‘p—l=7 %+m=]:5 Sol. 04 m=08
S\_ol. Sol. 1 1 0.4m = 0.8
x+2=6 p-1=T7 5";"'15 e 0.8
x=06s2 p=7+1=8Ans o) F :'4
x=4 Ans, 1 ‘ o =15 m=2  Ans

2 .
U S




Q2. Fillintheblanks.- (/0 Fx. 7/

NI et
AN i%.ﬁmeanspuvéntaadib'denotedby

ii.  The price that we pay to purchase a thing, is
called . ’
Profi

iii.  Profit percentage = = % 100
iv.  Tochange a percentage into a decimal, first, we

converl itintoa .

Answers: ;
i % ii.  Cost price
iii.  Cost price iv.  fraction

Q.3. Tick(v) the correct answer.
1 When we change a fraction 2'1-5 into percentage,
we get:
al% c. 256%

b.4% d. 0.4 %

ii. . By changing 10% into a decimal, we get

b a1l b. 100 ¢ 001 d. 0.01
il 1% of 1000 means: £
T | b. 10 ¢. 100 d. 1000
The coloured parts of gy T 7 1 1 1 {27
- 8.3% - b.30% c. 7% d. 70%

Profit or loss is calculated as percentage of
* a.cost price b. sale price ¢ marked price

A i e iii. b %5‘\

V.o

WHAFIER

< ANTRODUCTY

Algebra

Algebra i g - ;

o ’ "5 1% @ general form of the arithmetic.
ariable - ! .

; In algebra, a Jetter ; _

number or vatlue which is caﬁ:duzeja;:bi?b oliof aiiy

Coeff; cient 1

The multiplying factor of a variable is called i

ON 7O ALGERRA

toefficient,
gebraic Expressions
The eXpressions in  which the numbers or

fariables or both are cannected by ; :
re called algebraic expression. by operational signs

Jonstant ;

A constant i 20 e i
merical valye. '8 B quantity which has a fixed

terms

A “le.termsofm i
cienmmcanednkmrl:n: Rely. differ by their
“Va uation whes g
Z;-h:n“"e ces °€°i“ging the absolute or numerical
Fiables is called évaluagmms n"mbers'i.n plaea_ of'
: 1 A

-

ol ON P Y el e  u

-

|
3
)
|




=R8.5800-‘Rs.5500 (o Bt 7D

=Rs. 300 - !
Loss
Loss percentage =m x 100
85380:0 x 100

=5.17%  Ans.

Q7. A dealer bought 18 toy chairs at RS. 65
per chair he sold 12 of them at Rs. 75
each and the remaining chairs at Rs. 60
each. Find his profit or loss %.

Sol.
Cost price of 18 chairs = 18 x 85 = Rs.1170
Sale price = 12 x 75 = Rs.900
S.P of 6 chairs = 6 x 60 = 360
Total sale = 900 + 36 = Rs.1260
Profit = 1260 - 1170 = Rs.90 ,
Profit % = a5 x 100

=770%

‘ »
Q.8. Fatima bought a doll for Rs.440 after
- gefting a discount 20%. Find the

marked price of the doll.
Sol. :
” 20
Discount =700 % 440
» . = Rs- 88
Marked price = Cost price + Discount

=“0+88*‘k- > ‘\

. =Rs.528 Ans. K]@ By

Q9. A mobile is sold for Rs.2160 after i

. Sol.
Sale price = Rs.2160
Market price = Rs.2700
Discount = 2700 - 218 = Rs.540
Marked price : Discount
. 2700 540
100 v
x_ 100
540 T 2700
. 540100
2700

Xx=20% Ans.

0L’J‘~‘-L‘i]\7ﬁ El’.sr‘ci.ﬁs_‘ 7

Q.1. Answer the following questions.
L A?;eﬁ;: the percentage. ]
Wy fraction with 100 i i
;'percentage. : as a denominator is called
hat
: P n:ra;ego .to change a fraction into
| S, we mtllat;;:y it by 100 to change a fraction into
it rite the formula fo
Ans. Profit = Sale-price - Co:tt::'zieng e
R ‘What is meant by percent?
ns. :,thMt Thm divided by 100.
F is the formula of findi
Discount = Marked nrice — Rn::ﬁ::im ot




Sol.

Qs

Sol.

Q4.

Sol.

What percent of amount did l;eM’

(G
= f;:i) * 100 ) ’
_156 . :
o ,
=13 % :

In a town election, Azeem got 42% of
the votes cast and remaining got
Hameza. If the total number of votes cast

is 40,000. Find the votes obtained by

Hamza.

Total no of votes = 40,000
Votes got by Azeem = -1%0' % 40000
) T =16800 -
Votes obtained by Hamza = 40000 — 16800
= 28200 x Ans,
Nabeel traveled 75km by bus and 125

km by train. Find what percent of the
total journey did he travel by bus and

what percent by train? t
. Travel by bus = 75 km
Travel by train = 125 km
Total journey = 200 km S

L

V3
s 3

Percentage travel by bus =

= 37.5%
Percentage travel by train =% %100
' =625 %

Q.5. A shopkeeper bought a pair of shoes for

Sol.

720 and sold it for Rs, 810. Find his
profit percent. ;

Cost price = Rs. 720
Sale price = Rs.810
 Profit = Sale price - Cost price
= R« 810-Rs 720
= Rs.90"
. Profit
SR e Gk s 110

= X100
=  125% Ans,

Komal bought a sewing machine for
Rs. 5800. Due to some defects in the
machine, she sold it for Rs. 5500, Find

her loss percentage.
Costprice- = ' Rs. 5800
Sale price = Rs. 5500

Loss = Cost price - Sale price




Q.16. The cost price of a jean is Rs.200 and x =~ 0.18x = 360 BV A j)

/"’ marked price is 50% more than the cost 0.82x = 360
(3 5 price. But the shopkeeper sold it at 25% e 80,
NS discount. 0.82

i.  Find the marked price. x = Rs.439

ji. Find the discounted price. Marked price of pair of shoes = Rs.439Ans,
Sol.
Cost price of jean = Rs.200

Marked price = 50% more than cost price
Marked price = %’5 200 =Rs100
i So marked price = 200 + 100 = Rs.300,

33 o : -
Raview Tyareize 7

. Find the percentage of the following.
Rs. 20 out of Rs. 250

ii.  Discounted price = 300 "12656 x 100 = 525% %100
=300-75
=Rs225 Ans. e
Q.17.Find the marked price when 9% 30kgoutof 260 kg  °
discount is Rs.81.
Sol. 30
Discount = 9% = . 7pgp X100
Discount = Rs.81 = 11.53 %
Marked price = lgg % 81 250 marks out of 300 marks.
=Rs.900 Ans.
Q.18.Find the marked price of a pair of =250 . 100
shoes, when its sale price is Rs.360 and 300
discount percentage is 18%. =83.33 %
Sol. ' 24 min out of 1 hour
-Sale price = Rs.360
‘Discount percentage = 18% 4
Marked price. =7 :‘é‘a * 100
Let marked price = Rs. x LAY
+ Then =40'%

) x ~ 18% of x = 360




le Sheikh Khalid purchased 80 ‘metres
cloth for Rs.2,240. He sold 50 meters

7 3 cloth at the rate of Rs.80 per metre and
30 metres cloth at the rate of Rs.35 per

- metres.,

i. Fmdthatsheikhxhahdmm proﬁtOr
loss, ‘

il Fmdpmﬂtorloss percentago p

Sol.

. Cost of 80 metres cloth = Rs/2240

'Sale pricé of 50m cloth = 50 x 30 = Rs.1500
‘Sa]eprweofaomcloth =30 x 35 = Rs.1050
'Sale price of 80 m cloth = Rs, 1500 + Rs. 1050

= Rs. 2550 ‘

i . AsSP>CP Sk

~ So Khalid is in profit

il Profit = 2550 — 2240
Profit = Rs.310 '

' VPmﬁtpercentage- 2,;0 X100 -
-18.84% Ans,

Q.13. Gul Khan purchased 180 chocolates for
Rs.2,160.. He sold 155 chocolates at the
rate of Rs. 15 éach and 25 chocolates at
the rate of Rs. 10 : ok

i, Find thatheisinproﬁtorloss

< iSi.ol. Finpmﬁtorlosspercehtage

Cost price of 180 chocolates = Rs.2,160

Sale prica of 155 chocolates = 15 x 155
‘ . = Rs. 2325

Sal& price of 25 chocolatm 'x_‘lo‘

=

=Rs, 2527 ¥ KA
Since S.P> C.P

So, :
Gul Khan in profit

: . 415 :
Profit percentage = "'2160 x 100%

=19.21%  Ans.-

'4Ashh't priced for Rs.150 w.sold for
: Ra1m=M ‘the percentage discount.

S
Shirt priced at = Rs.150
Sale price = Rs.120
Discount = 150 - 120 = Raso

% discount =‘% % 100
=% - Ans,

_s.SmhboughtadinnersetﬁorRs.aiSOa.

20% discount.-Find the aet.nal prices of
the dinner set.

: Letactual pneeofdinnersetnRs.x
.Then '

x— 20%0fx’==‘480

"x-%.xfﬁo- ok
. x(1-0.2)=480

x(0.8) = 480

' Sooﬁgin;fpnpaofdinne:'set o B

= Rs.600. Ans,




8.

&

Sol.

Sol.

1 0.

Sol.

*Profit = 40%

The cost price of 25 pairs,of shoes is
Rs.190 each. Find the sale price of each
of them, when the retailer has a total
gain of Rs. 2875

Cost price of 1 pair = Rs. 190
Cost price of 25 pairs = Rs. 4750
Total profit = Rs. 2875 -
Sale price = Cost price + Total profit

= Rs. 4750 + Rs. 2875
Sale price = Rs. 7626
Sale price of each pair = Rs.——72525 |

=Rs. 305 Ans.

25% loss on a mobile set is Rs. 475. Find

the cost and sale price of the mobile set.

Loss = 25%
Loss price = Rs.475.

CP =52 %100 = Rs:1600

SP=CP-LP

=1900 - 475 = Rs,1425  Ans. ,
The profit percentage on a bicycle is
40%.-Find the cost and sale price of the

bicycle when the shopkeeper got a
profit of Rs. 500.

v

Profit = Re.500

1.

i Et :

L

=% % 100 = Rs,1250

S.P:proi:lt+c.'p
=500 + 1250 = Rs.1750 Ans.

The cost price of 18 sweaters is Rs.425

per sweatar, and the total gain of
shopkeeper is Rs.6750.

i, Find the sale price of each sweater.
ii.  Find profit percentage

" Cost price of 1 sweater = Rs, 425.

Cost price of 18 sweaters = Rs. 425 x 18
= Rs. 7650

= Rs. 6750

= Cost price + Profit

= Rs. 7650 + Rs. 6750

= Rs.14400 '

Profit
Sale price

14400

Sale price of each sweeter =75

=Rs. 800 Ans.
Profit

= Coslpljice * 100

-g;gg * 100

=88.23 %

Profit Percentage




Q.5. Saleem bought 90 oranges at the rate of

p . as =25 =T ,(80:2(@/
8 oranges for Rs. 10 and sold them at i e 100 % .
the rate of 2 oranges for Rs. 9. Find that

' Remaining bananas - =80 - 20=60.
Saleem is in profit or loss and also find “Sale price of 5 bananas =Rs.8
its percenfageo - ; ‘Sale price of banana =~ =Rs. 1.6

Sol. 5 Sa'lepriqeofﬂ()banaix’hs =Rs. 96
Loss = Cost price - Sale price
=Rs. 100 - R.s.96

A=Rs. 4

Cost price of 3 mnges Rs. 10
-

Cost price of 1 orange: 3 = Rs. 3.3

Costpnceon_qunges-.R‘s.SOO
Sale price of 2 oranges = Rs. 9.

Loss Percen tage  ="grororice price * 100

Sale price of 1 oranges = Rs, 4.5 3 4 2100
Sale price of 90 oranges = Rs.405 ‘ 100
Profit = Sale price ~ Cost price = 4% Ans.

= Rs. 405 - Rs. 300 = Rs. 105
Profit Percentage =%m§'rt—m >(‘1'~00'L
: 105" 2N & o

Q.7.. 12% profit on a e'omputer:is' Rs,540
i Finu the cost price of the computer
il Findthesalepuoeofthecompnter

=300 ¥ 100 Sol. }
. Proﬁt
=356 % Ans. Profit percentage “Cost price *100
Q.6. Shahid bought 80 bananas at the rate of 12%= 500 - ' oo
4 bananas for Rs. 5 and sold at the rate = Cost price :

of 5 bananas for Rs. 8, Find that he is in
profit or loss and also find its
percentage, when 25% of bananas have

11020 % Cost price = 540 x 100

Cost price = 51420 x 100

been spoiled. . X
Bol, | i '
. # Cost price of 4 bananas = Rs.'6 g::’f:t : i::,efl;g S Hee
Cost price of 1 banana = . Rs. 1.25 =Rs.5040 Ans.
Cost price of 80 bananas ='&Roi00 ¢




Q.2. A shopkeeper sold a toy for Rs. 96 at a

Sol.

‘x =580 7 : ;’
= Cost price = Rs. 50
=  Profit = Sale price ~ Cost price
= Rs. 70 - Rs. 50 '
= Rs. 20 Ans.

loss of 20%. Find the loss.

-

Sale price = 96
Loss % = .20%
Loss =

Let Cost price is Rs. 100, the sale price will be,

Cost price — Loss
Rs. 100 - Rs. 20
=  Rs.80
Cost price : Sale price
100 : 80
x :96

Sale price =

x_ 9
Resolve 100 =80 \

96 L !
X=g5 *x 100

Cost price = Rs. 120

Loss = Cos{ price - Sale pnce
= Rs. 120 — Rs. 96
=Rs. 24

*Loss Rs.24

U

I

i&k._’ >

~ Profit

. Chand bought a shirt for Rs. 250 and

sold. it for Rs. 295. Find the profit

percentage. ' C}

Cost price Rs. 260

Sale price Rs. 295 :

. Sale price — Cost price
Rs. 295 - Rs, 250
Rs. 45 :

__Profit 4
=Cost Price <100

45
=350 ¥ 100

L =18% v Kns,

Waleed bought one dozen pens for Rs,
144 and sold each of them for R.s. i & A
Find the loss percentage.

-"‘

Profit percentage

Cost price of one dozen. Pens = Rs. Y44
Sale price of one pen = Rs. 11

“Sale price of one dozen pens = 12 x 11 = Rs. 132

Loss = Cost price — Sale price

=Rs. 144 - Rs. 132
=Rs. 12

Loss Percentage  ="g, o m %100
100
" —_-% xlOO =‘T§-

=8.33% Ans.




[ .Z) save the vemaining. Find the
- percentage of his saving.
Sol.

%;%g' x]00='72‘?(«

Saving = 100 — 72 = 28% Ans. :
Q.11. A shoe company found t.hat 4.25% of the
production is defective. The company
made 28000 pairs of shoes. How miany
pairs of shoes are defective?

ﬂfg x28000=1190  Ans.

Q.12. Find the actual amount if 40% of the
amount is 60 rupees.

Sol..

Sol. :
=40 % of 60

2gx100 150 Ans.

Q.18. Bano spends 70% of her pocket money
and saves 30%. Find the amount she
spends and saves. Where as she gets Rs.
1800 as the pocket money.*

Sol. X

;70% % 1800 = R.1260

S % 1800 = R.540 : - >

Q.14. 200 litres pure milk contains 77 liters
cream. What is the percentage of cream
inpure milk?

- Sol N2

- Sol.

"%xloo =385 % Ans,

- Q.15. Every 8 persons are *using tobacco out

of 5 persons in Pakistan. What is the
percentage of tobacco users?

= -‘g x100=60%  Ans.

Q.1 Abooksellersoldabook for Rs. 70 at a

gain of 70%. Find the proﬁt.
- Sol.

Sale price =Rs 70

Profit %  =Rs 40 %

Profit =7

Let the cots price is Rs. 100, then the sale price
will be " =Cost price + profit
¥ = Rs. 100 + Rs. 40
; = Rs. 140
Cost Price Salé price
100 :- 140
X g 70
x__ 70
1007140

2’

5 70 .
x=140 x 10
700

X =737




. Q4.

Sol.

Q.5.

Sol.

: Sol.

The 60% length of a road is 75 km. Find
the total length of the road. Q'_f?/\:

60% of road = 75

75 ><100

-125km Ana.

Sana got 484 marks out of 550 marks.
Find the percentage of her marks.

484 marks out of 550
=% % 100
888.% Ans,

. In a town 35% of 15000 voters did not

cast vote in an election. How many
people did not cost vote? *

Total = 15000
Cast vote = 35 %
_ 15000 x 35
=7100

= 5250

.

" Not cast = 15000 - 5250 = 9750 Ans.

Q.7.

In a test match Shoaib Malik made 134
runs in the first innings and 41 runs in
the second innings. Find the
percentage of Shoaib’s score if total
score in both innings of Pakistan was
500 runs.

Sol.

Q.8.

Sol.

First innings

=
6>
=

= '}'56.3% x100=26.8 %

Second innings

Total Score

=g40'% x 100 =82 %
=268 +82
=35 % Ans.

Famoqpmdzs%ofsalaryasahouse
rent and 50% of salary for other

nses. Find the remaining amount if
his salary is Rs.8000.

=25 8000 = 2000

]%%XBOOO 4000

= 8000 - 6000

= Rs.2000 Ans.

. Shakeel had Rs. 7500. He paid a debt of

Rs.1500. Find the percentage of the
remaining amount,

Paid = Rs,7500

Debt = Rs.1500

Remaining = 7500 - 1500 = Rs.6000
Percentage = 76500 X 100

=80% - Ans.




ii.” 64%of25 ’ 330
Sol. Qj

=%6 x25=16

iii. 75 %of4
Sol.

Saeed has Rs. 75. He gives 20% of its as
alms. What remains with him?

: ='1?6§6 x4 =3
iv. 3.5%of 1000
Sol.

=%§5 % 1000 = 35

V. 50 % of 180

420
Alms =100 x 75 . .
= Rs. 15 3
Remaining = 75 - 15 = Rs.60 Ans.
Komal made a suit of 5.5 meters cloth

out of 44 meters. What percentage of
the cloth did she use for the cloth?

=T50'06 % 180 = 90
vi. 90 % of 190

Sol.
=-19-§5x190=171 =gl T
. : 7 =44
vii. 65 % of 60 . wishe A
Sol.

85% of the students in a school of 300
students passed an annual
examination. How many of them are
fail. 2 :

65
=577 x60=39
100 :
viii. 18% of 1400

Sol.
18
= 100 »* 1400 = 252 _ 85
: =100 x 300 = 25
“ix.  18.5 Y% of 2000 vy e
=255,

Sol Failed student = 300 — 255 = 45 Ans.

o= s B




vi.

£s

Sol.

510 marks out of 850 marks. :
0 of Q/\

Decimal = 0.6
Ratio =510:850=3:5
Percentage = 60 %

700 g out of 2 kg
52 yobl -

Fraction =5505 =355

Decimal = 0.35

Ratio =700 : 2000 ="7:20
Percentage = 35 %
42 students out of 75 students

: 42 14
F‘rachon::;'g =35
Decimal = 0.56,
Ratio=42:75=14:25
Percentage = 56 % s
Rs. 900 out of'Rs. 4500

Rs. 245 out of Rs. 9800

Decimal = 0.025

Ratio =245 : 9800 =1 : 40

Percentage = 2.5 %

1.5 liters out of 90 liters
i :

Fraction = g0 =

Decimal = 0.017

Ratio=1.5:90=1:60

Percentage = 1.67 %

125 ml out of 1 liters.

125 : 1000

Fraction = 11626% ! =';'

Detimal = 0.125

Ihs 125 2
Ratio =7000 = 1:8

Percentage = %5' %o
=125%

8% of 50

=‘l'%6 x50=4

. Find the following percentages




Sol.

Q.2.
i.

‘Sol.

.Sol.

iii.

Sol.

iv.
Sol.
Q.3.

i.
Sol.

160 % U

. 160 8 3

Decimal = 1.6
Convert the following into percentages
1 e
2 L TR

1 3 =
=2x100=50% Sol. -_--15x100=30%
0.25 ;

25 vi. D
= m x100= 25 % 20
7 29 2
5 Spl. =30 % 109-45%

7 vii. 0.59
=3 x100 =350 % 59
1 Sol. = 100 X100=159 %
8 : viii. 3.8
=gii=1r5% Sol. =30 x100= 380 %

Use fraction, decimal, ratio and

‘percentage to expne§s the following

situations.

50 marks out of 100 marks

50 1
Fraction = 1 00 =5
Decimal = 0.5.

Ratio =50:100=1:2

Percentage = 50 % - e :

[

90 meters out of 150 meters

Fraction = 20 - 3
: 160 ~ 5
Decimal = 0.6
Ratio=90:150=3:5
Percentage = 60 %
48 min out of 1 hour
i

Fraction = %g' = g‘
Decimal =
Ratio=48:60=4:5 :
Percentage = 80 %

8 months out of 1 year

PN 82
Fraction = 12 =3
Decimal = 0.67 °
Ratio=8:12=2:3
Percentage = 66.67 %
6 egg out of 2 dozen eggs.

; 83y hd
Fraction =5, =7
Decimal =
Ratio=6:24=1:4
Percentage = 25 %

@




48 % @

Q.1. Express the following in fractions and : ‘ 48 12
decimals. Fraction = 100 =25
i. 45 9% Decimal = . 048
Sol. 78 %
. 45 9
Fraction = 100 =20
' 45
/ L 4o 7
Qemmal 100 0""? 3 Fraction = I8 =Q
e N 100 ~ 50
SOI. Decima.l = 0:78
Fraction = 100 =50
- 2 89 89
Decimal = % = 0.06 Fraction = m = m
i, 56% & Decimal =  0.89
Sol. 68 %
Fraction = - =‘1‘i
55 g m
Decimal = 725 =056 SACHOIL TEE S400 =98
iv. . 96% : Decimal = 0.68
Sol. J 15 %
: 9 24
Fraction = A700 =25 fo - 15 3
Decimal = L 0 T % 30522
= 00 =096 Decimal =  0.15
V. 18 % 350 %
Sol. '
: 18 9 g
{ = Pl Th e arin N 7 1
iretion 100 =50 Fraction” = ;’%‘i =3 =33
* Decimal = 0.18 = 3.5

Decimal

1

,




Q2. Fillin the blanks. Oy bz b

i The simplest form of a is the same as
the lowest form of a fraction.

ii. The second and third elements of the
proportion are called as

ik proportion is the relatmn in which one

quantity increase or decrease in a same

proportion by increasing or decreasing the other

quantity. "
Answers:

i ratio ii.

iii.  Direct proportion
Q.3. Tick(v) the correct answer.
i. A ratio is written by putting.

means of ratio

aut b., R g
ii.  ab=cd, if and only if

a. a}kb:cxd b, axe=hxd

c. bxec=axd d. e¢xd=axb
iii, The reduced form of § 3 is

a.2:4 b.4:2 e.2%1 di1:2
iv. 10 : 15 is an equivalent ratio of
' a.15:10 b.2:3 e.2:5 d.3:2
v. The relation of equality of two ratio is

called as

a, ratio b. Proportion

¢, equivalent ratio d.Cross multiplication
Answer:

i.a i.c

iil, & iv . ,wb
.ls. 3

» N e S
,AA‘ L S T

% ‘FlNANCIAL ARITHMET\C'.,.

3 -
“‘a'n‘ R “.

‘e fabea'a

Percentage

_Any ratio with a second term of 100 or any
fraction withh 100 as a denominator is called &
- percentage.

Profit

. If selling price is greater than cost price, then it
is called profit, i.e. Profit = Sale price — Cost price
Loss

If cost price is greater than sale price, it s called
loss i.¢.

Loss = Cost price — Sale price
Profit or Loss percent

We calculate the profit or loss as a percentage of
the cost price.

P
Profith = Gospris X100
Loss
Loss % = TOost Beiea price x 100
Discount

The differénce between marked price and sale
price i called discount,




Q4.
’éi
b

&

Sol.

Q.6.

Sol.

Ali, Usman and Waleed distribute an
amount in the ratio of 2 : 5 : 3. Find the
amount of Usman and Waleed if Ali gets
170. Also the total amount

Ali: Usman : Waleed
2 5 :3
2%85:5x85:3%x85
170 : 425 : 255 -
Total = 170 +425 + 255
=850 Ans.
Usman’s amount = Rs.425
Waleed's amount = Rs, 255

Aliha takes 200 steps for walking

distance of 160m. Find the distance
covered by her in 350 steps. :

200: 160 ::350:x
200 x = 56000
56000
X = 200
x = 280 Ans,
If a car need 9 liters of patrol for a journey
of 162 km. Find hew many liters of petrol is
required for 306 km?

9:162 !:x: 306

162 x = 2764
2754

xS 1162

* x= 17! Ans

Q.?o

) elé An army camp of 200 has e.no_ugh fo:

,_::rﬁ()days.llow long will the food las
the number of man in the camp'h
reduced to 160? '

Sol. '

Men : food
200 : 60
160: «x
200 x 60 = 160x
x_gmeO
- 160
x = 7hdays Ans,

Q.8. g)goats can graze a filed in 13 days.
ot inmsmya vy goats will graze the same
Days : graze

13: 45
s (0% &%
Xx=45x13
x = 585 goats

! 1. Answer the following questions.
T\::hat is meant by ratio?

¢ numerical comparison between

Al the tw

| e quantities of the same kind is called as ratio 7
: Define the proportion : .
‘Ans. The relati ity of :
:E’. b :{, hon of equality of two ratios is called as
i What is meant by extremes of proportion
The first and fourth elements are called &s
éxtremes of proportion




iv.

Sol.

Q.2.

i
i
iii.

e

BN Lo a6
‘L,’-L*\HF:W LNEYEIRE D

. Write the following ratios into simplest

form.
Rs. 105 and Rs. 150

105 ::150

21:30 ",
7:10 Ans.,

35mand 118 m

35:119
15; 17
0.76 m and 1.9 m.

16 19
2 100 * 10
-—;’go xmo:%% » 100
76 : 190
38:95=2:17 Ans. %
26 liters and 39 liters ;
\

= 26 : 39

= . 2:8 Ans.

Out of 150 eggs in a basket, 25 eggs
were found rotten, Find the ratio of S
Rotten eggs to the good eggs.

Rotten eggs to the total eggs.

Goods eggs to the total eggs,
Bt . 0

ii.

iii,

Q.3.

“gE g

FZ

Good eggs = 150 - 25 = 125
RolteﬂeggB:%eggg
Ratiois=25:125
1:6
Rotten ; total
25 2 150
530
7,58 SO
: total
125 ; 150
5 :6

Out of 75 passengers in a bus, 35 ar¢
male, 30 are female and remaining
are children. Find out the ratio o
the following. '

male passenger to the total passengers.
Female passengers to the mal
passengers,

Children to the total passengers

Male : total

35 :7

7 115

Female : male
30 : 85
Ll

Childran : total
10 : 75
2z s




Q.7. If 7 buffaloes give 56 liters milk, how
. much milk can we get from 12

buffaloes? , 9
Sol. .
Let x be the litres of mitk
7:56 :: 12:x
Tx =672 1
x='6%g =96

Q.8. Atarmerhnssdawsfoodforszicows.'

how may
He bought 11 more cows. For
days will the food be enough?

Sol. ;
Let x be the no of days
8§:33:: x:11
33x =88
8
x-=§-83‘ =3 =2.67 Ans.
: in 35 days, in
9. If 40 workers do a work in
& howwanydayswﬂlthesamoworkbe
done by increasing 10 more workers,

Sol.
Let x be the no of days
40:x ::50:35
40 x 35
. =50
x=28day Ams.
ey

Q.10. Raheem paid his servant Rs. 750 for 1
week and 3 day. What amount w ill be
pay him for a month of 30 day. z e)
Sol.
750 x::10: 30
10x = 750 = 30
750 x 30
B d0
A x = Rs. 2250 Ans.
‘Q.11. A machine starts working in 45 minutes
at the temperature of 60 °C. How much

time is required to work it at the
temperature of 75°C.

45:x 1 160:75
60x=45x75
. 45 x 75
X = 60
x=36min Ans.

Q.12. 72 persons have enough food for 7 days.
But after 1 day they decided to finish
the food in 8 remaining days. For it the
invited more persons. How many

- person did they invite.
Sol.
Days =17 person = 72
so.
72:x::6:3
Bx=T2%3
=L 728x 3 ~36 n .




Q.2.

i.

&l.

ii.
Sol.

Find the value of *x’ in each the
following proportion. (6 -2

2:7 ::x:49 iii.  1.2:36 ::x:3
Sol.
Tx=2x49 36x=12x3
Tx =98 36x=386
k=77 = x=36 =
x=14 Ans. x=1 Ans.
8:12 ::6:x v, %8 s 186
: 100 \
Bx=12x6 Sol:
8x =172 100 x = 2 x 150
72 100 x = 300
x="g =9 300
x=9 _Ans. *=100
L x=3 Ans.

5:9 is a ratio, if we increase first
element of the ratio up to 40. What will
be the second element? ;

A}
5:9::40:x
bx=40%9
40x9
Bt
=8x9=72
So, Second element =72 Ans.

Hes ot

W
Q4. What is the fourth proportional of 1, §

Sol.

> .5.

and 4,

()

Let the fourth proportional be x
Then

Ans,
Find mean proportional of 4 and 9.

Let the mean proportional be x, then
d:x1:x:9

4x9=x2

x? =36 =. x=6 v
If 150 shirtcanbestitchedonﬁeewing
machines in a day how many machines

are required to stitch 225 shirts in a

day? x
Let x be the no of machines then

150:6 ::225:x
150x = 1350

:xBBMachinesmmquimd Ans.




vi. 1 year and 240 day

a) T G S G
Sol. =  365:240 > vi. g istogs
= .. 73548 v 1 2 1
v. 1day 1 week and 15 days Sol. gg 133 =gg X99:33 x99=1:6
Sol. = 1:7:16 — e i
Q.5. Simplify : wxereise 6.2
xs.o : :: 131;8 120 Q.1. Find the value of “P” in each of tk
= 6: 60 ) following.
= 1:10 Ans.. i _2_HP
ii. 25 is to 50 5 20
Sol. Sol. 2:5=P:20
= 25 : 50 ; = 5P =40
= 5:10 P:Q
= 1:2 Ans. 5
iii. 80isto 100 ] l;=83 Ans,
Sol. . X 8
= 80:100 ; AR s
= 40 : 50 Sol.
= 8:10 Rix6 v 3210
=  4:5 Ans. 10P=15
iv. 7T2isto48 p=§=15
Sol. % 10
= 72:48 ) :::153 Ans,
S i i, g =p
= 3:2 Ans, Sol.
V. 4000 is to 40 3.1;0.40': 36:P
Sol. 1P=04x
= 4000 : 40 . 0.1 P:»ZA
* =  100:1  Ans. ( p=22 g4




ix. 1.3:39

Sol.
13 39
=10 ‘10
=1T36x10:%-x10
=13:39
=13:39
=1:3 Ans,

ix. .02:04

Sol.

2 4

= 100 ‘10
s -l-g—oxwoo:i%xlooo
20 : 400

$ 10: 200
5:100
1:20 Ans.

1

ol Lol B
D -
00

Sol.
%
=% x24:'(1; x24:% x 24
=6:4:3 Ans,
- 7] 75:100:125

= 15:20:25
S 3:4:5 Ans,
i

0.2:0.4:06 ' : @

il

1 e 4 e (s
10 xlooo.mo xlOOO.looo 1000
100:10:1 Ans.

. Write each of the following quantities

into ratios and reduce into the simplest
form.

Rs. 100 and Rs. 250
_ 100 250

5 5 5

= 20 : 50

= 4: 10
= 2: 5 Ans.

2 kg and 800 gram
= 2: 800

= 2000 : 800

= 5:2 Ans,

1 m and 500 ¢m

Bol. = 100500 - ‘
= 15 Am |

N




iii.
&l.
iv.

Sol.
Q.2.

Sol.
ii.
Sol.
iii.
Sol.

iv.

LRSS lify the following ratios

Write each of the following inter ragj, :
form.
3 5 e {1 Ans.
4 i i ) ogmdet ~
3:4 Sol. 5:6 Sol. 10:4 Ans,
2 .
7 8 a =
2:7 i 38 x % 1
9 Sol. 8:13 Sol. u:b tg X
1 = o:2m.
9:11 14 x
i vii. 23 x. y
13 Sol. 14:23 Sol. x:¥ 1
1:13 ‘ ig %27

‘ o =6:1Ans.
Write each of the following into
fraction form.
2:8 v. 1:10 1
2 A4 g kT
3 B 10 Ans.
7:4 \ vi. 4.1:52
0 4.1
1 Sol. 32
19:20 vii. a:b :
19 a 5 2
20 Sol. T 1°9
20 b :
99: 100 viii. x:y B 2
99 SAE | 1 %353
100 y - 15:2 Ans.

£
;’t
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L

s )

Sol,

Q.6.

Sol.

Find the cost of levehhé? triangular
playground at the rate of Rs.25.5 per

square metre, The base of playground
is 88m and height is 66m.

h—

Area of triangle =7 (Base x Height)

l’-‘

=3 (88m? x 66m3)

...

o (5808)

= 2904m?
Cost of leveling at Rs. 25,5/m!

= (2904 x 25.5)

= 15.74052 Ans.
The base of a triangular shaped field is
246m and height is 125m. How much
rice will be produced in this field at the
rate of 24 quintal per hectare?

Ans,

Base of field = 246 m
Height of field = 125m A

Area of field = (2&6 X 1zs)x%
= 15376m?

: 15375

Rice produced 24 quintals/ hectare
=24 x 1.5375

=83.9‘Q1\g::ials Ans,
Be s 8

Q.7.

@,

Sol.

Sol.

A room is triangular in shape, Itsbase'
is 9.4m and height is 8,6m. Find the cost
of is wooden floor at the rate of Rs.250

per square metre. :

Base of room = 9.4m
Height of room = 8.6m

Area of room = § x base x height

; 9.4 x8.6
= 40.42m?
Cost of wooden floor = 260 x 40.42
-~ =Rs.10105
The height of a triangular garden is

54m and base is 92m. Find the number

of flowers in the garden if there are 18
flowers on the area of each sq. metre.

Height of garden = 54m
Base of garden = 92m

Areaofgardan x54x92

-27x92=2484m1
No of flowers per m? = 18
Somofﬂowmslsxw

=44,712 Ans.



Sol.

ge

Sol.

i
.,

Q.2. ‘Find the area of triangular floor whose

Base = 20.1m, Height = 12.8m . é‘@

Area of triangle =”;' (Base x Height)

:-%(20.1«:: % 12.8cm)

1
=5(257.28) 2

= 128.64cm? Ans.
Base = 8.256m, Height = 6.4cm

Arcaof triangle =3 (Base x Height)

= 3 (8.25cm x 6.4cm)

= ';‘ (52.80)

. =264em*  Ans.
Base = 25m, Height = 33m

v

.
Area of triangle =-;' {Base x Height)
= ‘% (25m x 33m)

l ’
=412.6m* Ans.

base is 9m and heightisw., 2

Sol.

Q.3.

Sol.

- Q4.

Sol.

, &s)
Area of triangle =3 (Base x Eei;ht)
ﬂ‘;'(ﬂ_mxﬁ.inﬂ
e
3'2'(48.6)
=24.3m* Ans.
A triangular sandwich has the same
height and base, Find the area of the
sandwich if its base is 7.4cm
Aroa of triangle =3 (Base x Height)
n%ﬁ.‘cm'x 7.4¢m)
=3 (54.76)
= 27.38cm? Ans, :
The base of triangle shaped clock is

-28¢m and height is 32cm. Find the area

of the clock that it will be cover on the
wall. .

Area of triangle =§ (Base x Height)
Y :%(mxm’ )
" 21 s96)



' —* e
Sol.

ST | §i.  Base= 14.4m, Height = 12.5m =
SR ST i ( i Sol. | @ \5 ,
Area of trapezium =5 [9m x 24m : -

Area of triangle =% (Base x Height)

1
=3 [216] 1
=3 (14.4m x 12.5m)
216 y
=75 = 108m? 1
; =3 180)
Cost of carpeting = (108 x 32) = Rs, 3456.Ans,
| = 00m? Ans.
wxereize 11,5 iv.  Base= 67m, Hoight = 10m
Sol.
Q.1. F:ind the area of the following - ' 1
i Base = Height = 1
Ly 8m, Height = 14m —.-% (6.7m x 10m)
Area of triangle .%. (Base x Height) - 3 % i)
1 i =33.6m? Ans.
=g (8m x 14m) Ve Base = 5.6m, Height = 6.5m
=%(112—) ' P 1
= 56m? “Ans S e hange | = 2 S o
ii, Base = 19m, Height'= :
e cight'= 16m =3 (5.6m x 6.5m)
8 1
Area of triangle = 5 (Base x Height) = ‘21" (36.4m?)
2
=%(19mxwm) = 18.2m Ans,

1
=75 1(304)
=152m? A=, 4



Q2. Find the area of a trapezium whose
//’17 . -length of its parallel sides are 19m and
> ‘24m_long respectively and distance
between them is 14m. :
Sol.

ea of trapezium = %(perp”endiculnr distunce X

sum of length of parallel sides]
=%l14m x 43m]

n‘-lé&g—‘-—sm; ='7m xwm
=30lm*  Ans. :
Q3. A trapezium has 20m and $5m in
lengths of its two parallel sides and
distance is  16m.

-

Calculate its area
Sol.
Area of trapezium "%mﬂm distance x
sum of length of parallel sides)
3‘;7(161:': % 66m] o
\
316»;5.6 m¥ =8 x 55m? = 440m?
Q4. The dlkanse: ot e

perpendicular
trapezium is 8m and the length of
parallel sides are 10m and 15m.
Caloulate the area of trapezium.

e .t

Sol.

Sol. = C//4 '
'Amaoftripuium-%[gerpendiculnrqmncex
sum of length of parallel sidesl
=7 (8mx 25m]

~ 20 = 100m® Ans.

Q5. A trapezium shaped playground has

s of its two parallel sides 80nr
and 120m. Find the cost of its flooring
at the rate of Rs28/m?* where the
distance between two parallel sides is

45m.

)5 ik L8 :

Area of trapezium -§|‘pefpm41mh:dmtanee x
sum of length of paraliel sides]

:‘%[45!!1 » 200m)

=9'9§99‘ m* = 4500m?

Cost of flooring = (4500 x 26

= R&.112500Ans.
. Find the cost of carpeting a trapezium

= ed floor at the rate of Rs.32/m?,

here the lengths of parallel sides of
hives _are 7m and 17m respectively

and distance between them is 9m.






! Heigh Ared T/ a0 = 21875m* i 4
! 'Ba_ae‘/"_"’ Cost of ploughing ot the rate of Rsi 6im? =
¢ . (21875 x 6) = Rs.131250 Ans.
o grp e Q8. The height of parallelogram aoo;:
Q.5. Find the base of a parallelogram when 25.8m and base is 86.5m. Find the co
its height is 16m and area is 560m®. of tiles used on floor at rate or Rs.
Sol, ’ 460/m? that will be used on the floor.
Area of a parallelogram = Base x height Sol.
' _fren T Aren of parallelogram = Base x height
Base =Teight U = 36,5m X 25.8m
M 5@7m’
=16 . Cost of flooring tiles at Ra. 460/
=35m Ans. = (460 % 941.7) = Rs.438,182  Ans, .
6.yt o it oo | T
base and 140m height at the ' . - :
Rs.4.50/m?. o e Q.1. Calculate the area of each of the
Area of plot = Base x Height i
= 200m x 140m
= 28000m? 3

Cost uf leveling a plot = 26000 x 4.5
\ =Rs.126,000 Ang.

Q7. Find the cost of ot a ok 1
parallelogram shaped field at the rate I Aren of trapezium = 5 Iperpendicular distance x
-:t; imm:hose base is 175m and sum of length of paratiel sides]
= ' ew =3lmxidm)

*" Area =Base x Height

84
w 176m * 125m . , =3 m? =42m* Ans
. A ot



Q5.

&

A 3m wide road is all around on the
outside of a 125m long and 60m wide

garden. Find the cost of repairing the
road at the rate of Rs. 150/m?.

Inner length = 125m

Inner width = 0m

Inner area = inner length x inner widih~
= 125m x 60m

Outer breadth = inner breadth +2(width of road)”

= 60m + 2(3m)
=860 +6m
= B6m’
Outer length = 126 + 2(3)
=125+6=131m
Quter area = puter length x outer breadth
= 131m x 66m
= BG46m* N
Area of road = outer area — Inner area
= 8646m? — T500m?
= 1146m?

Cost of repairing the road at the rate of Rs. 150/m*

= 150 x 1146
= Rs.171800Ans.

3&. )

Find the area of a parallelogram
shaped pool whose base is 17m and

" height is 9m.
Ares of paralielogram = Base x height
= 17m % 9m
A : = 153m*

Find the height of a parallelogram
shaped hall when its base is 12m and
the area of the hall is 216m?,

Area of parallelogram = Base % height

L Area
W'Bm
216
12
= 18m Ans.
. Find the areaof a whose
base is 75m and heightlsﬁt)m.
Aren of a parallelogram = Base x Height
=T5m x 50m
= 3750m*

Find “the height of a parallelogram
whose base is 27m and area is 405m®.

Area of 4 parallelogram = Base x Height



=96m - 23.5m) 7
= 96m - Tm
s =80m
Inner breadth=outer length — Ztmdthdborder)
= 50m - 2%3.5m)
=50m-Tm
=43m
Inner area = innerlungtbxmnerbreadth
= 89m x 43m
= 3827m?

Area of shaded border = outer area  innerarea

=4800ﬁ’—3_8_21m
=973m*  Ans,

Q3. Find the area of a 4m wide running

track constructed inside of a park,
when the length and breadth of the
- park are 150m and 80m respectively.
Sol,
Width of track=4m
Outer length of park = 150m *
Outer width of pask = 30m
Outer area of park = 150m x 80m
Now
Tnner length of park = 150~ 2(4)
=150-8
= 142m
+ Tnner width of park = 80 - 2(4)
=80-8="T2m
Inner are of park = IMx%

= 104
So area of 4m wide running track @)

- =12000 - 10224
= 1776m?

Q4. A room is 8m long and 5m wide. Find
thecostoftheﬂooungﬁlesatthemie
of Rs40/m* that used in verandah of
L5m width which ‘surrounded the
room.

Sol.

Tnner length = 8m

Inner breadth = m

Inner area = 8 x 5me = 40m?

Outer length = Inner length + 2width of border)
=8m + 2L5m) :
=8m +3m=1Im

Outer breadth = outer length + 2(mdth of

border)

= Gm+2(1.5m)
=im+ 3m = 8m

OuterAm = Quter length x OQuter breadth
=1Imx 8m
= 88m? :

Amofvmndah Outer area - Inner ares

= 88m? - 40m? = 48m*

Costomomngattherateofmwlm*

=48 x40
-ns.mo Ans.



UNTEr 1E0gL = Inner 1enguy 2w )
= 100m + 2(2m) /Z .
J =100m + 4m = 104m
)uterhmdth outer breadth +2(width of border)
-50m+2(2m)
=50m+4m 54m
Juter area = outer length X outer breadth
= 104m X 54m
= 5616 m*
\rea of border = outer area - Inner Area
= 5616 - 5000
= 616m!
I _ .
. Im‘m.lﬂoﬂ
- 2 :
~ Inner Area = Inner length x inner breadth
= 120m x 70m :
= 8400m*
Outer length = Tnner leogth +2width of border)
. = 120m + 2(3m)
=120 + 6m = 126m A
Quter breadth=Inner breadth+2(width of border}
= 70m + 2(3m)
Outer width = 70m + 6m = T6m
Outer area = auter length X puter breadth

A =126m x T6m
9576m! -
R %l*

Area of shaded border = vuter area - inner area
= 9576m* -
= 1176m*

Outer length 80m

Outer breadth = 45m

Width of the border = 4m

Outer area = outer length X outer breadth

= 80m x 46m
Y i =3600m?

Inner length = outer length — —9width of border)
=80m - - 24m)
= §0m - 8m
o

Inner breadth=outer breadth-2(width of border)
=46m— 2(4m)
=4Fm - 8m
. =37m

'Innerm-mnerlangthxmnerbreadth

=72m % 37m
= 2664m?

* Area of shaded border = outer area - inner area

= 3600m* — 2664m*
=036m? Ans.
Outer length = 96m
Quter breadth = 50m
Width of the border = 3,5m

Onm,gren outer length x outer breadth
s = 96m x 50m
= 4800m?
hwlmgth=wmw-ﬂwidﬁdbordu)



Sol. mg//
Area of rectangular ground = length x broadth
= - 45!11 x Him
: = 1350m?
Cast of repairing the garden = (1350 x 50)
~ =Re67500 Ans,
Perimeter of rectangular garden )
=2 x {length + breadth)
=2 x(45m +30m) 3
=2(75m) = 150m
Coctofcmstmcnnga*wall around it = 150 x 425
: = Rs.63750Ans.

Q.1. Find the area of the border (shaded

portion) from the following figures,
RN NN I
N N
N N n
A N R $
N N R -
N N S 20
k\\\\\\\\\\\‘
#. Area of Inner portion = (Inner length x Inner
breadth)
=20m x 10m
= 200m*

Outerlength innerlength-rthéaofmdthofthe

=20m +22m)
=20m +4m

nli B

)

Paruon
’

Outer breadth = Inner' breadth + twice of wi
outer portion

=10m +22m)
=104 4m = 14m
Total Aren = Ouun'lmgr.hxouur bresdth
=24m x 14m
= 336m*
Area of the shaded portion = total Area - Area of Inner
portion |

//2

=336m? - 200m® = 136 m*  Ans,

b.  Outer length of rectangle = 25m

Outer width of rectangle = 15 m
Quter area of rectangle
= Quter lengthxouter width
=25 15m?*
= 375m?
Nowumerlenyh 25 - 2(2.5)
=25-5=20m
Innermdthn 15-2(25)
=15-65=10m
Inner area = Inner length % Inner width
=20m ¥ 10m = 200m*
Area of boeder = 376 - 200 = 175m?
Q.2. Find the area of the following borders,
i,  Innerlength = 100m
Inner breadth = 50m
Width of the border = 2m
Inner Area = inner length % inner Breadth
= 100 m % 50m
= 5000 m*

[Ty



//./ / =2Imx 21m
. =441 m?
Perimeter of square =4 x length
_=4x2Im
=84m
'The perimeter of a square shaped room
is 36m. Find the cost of tiling the room
at the rate of Rs.182.5 per squaré metre,

Q.6

Sol.
Perimeter of square = 36m
4 x length = 36m

]Bngth :%6'

length = 9m
Areaofsqnarel = length x length
=9mx9m
: =81m?
~ Cost of tiling the room at the rate of Rs, 182.5
per sq. m = Rs.182,5 4 '
Total cost of tiling = 81 x 182.5 = Rs.14782.5
Q.7. Find the cost of leveling a :
at the rat of Rs, 150/m? iho!:gei;:ni:
33m and breadth is 22m. Also find cost
of fencing the play ground at the rate of
Rs. 100/m. '
Area of rectangular park = length x Breadth
:33_mx'22m

=16 me

A NEMMUYGE L xn\.uusuuu pﬂlu // '/ ‘
- =2>¢1engzh+¥m'ﬁan

=2 % (33m + 22m)
=2 % 55m
=110m
Caost of leveling the play ground at Rs.150/m? =
26 % 150) = Rs. 108900

Cost of fencing the play ground at rate of 100/m
- (100 % 10) = Rs.11000 Ans.

8. The length of a side of a square shaped
- field is 48m. Find the cost of ploughing
the field at the rate of Rs.25/m? and cost
- of fencing the field at the rate of Rs.
18/m.

Area of square field = length x length
- =48mx48m
Cost of ploughing field at the rate of Rs. 25/m?®
~ . =(2304 x 25) = Ra.57600
Perimeter of square field = 4 x length
=4 x48m
. =192m
Cost of fencing the field at the rate of Rs. 18/m
=(192 x 18)
=Rs.3456 Ans.
Q9. A garden is 45m long and 30m wide.
- Find the cost of repairing the garden at
the rate of Rs.50/m? and cost of
constructing a wall around it at the
rate of Rs. 425/m.

.



Sol.

£E.

gr

% /0
Area of square = length x length
=17cm x 17cm
= 28%¢m?
* Perimeter of square = 4 x length
=4 %x 17em = 68cm
-

Amaofrectangle =lengthxbmadth
= 11.2cm x 6.5cm = 72.8cm?
Perimeter of rectangle = 2 x( length + breadth) =
-4x(112cm+65cm)

Area of rectangle = length x breadth

=76cmx3.8i;m
-28.88cm’

Perlmeter ofrsceangle = 2 x(length + breadth)

-2x('lﬁem+88cm)
= 2(11.4cm)= 22.8cm

= length x length
=4.5cm x 4.5¢cm |
= 20.25cm?
Perimeter of Square = 4 xlength

=4x45 =18cm
the: ,

Area of Squm

‘Find the length of a rectangular park

whose breadth IS 15m and area is

We know that

 Area of rectangular park = length x breadth

Area  875m?
Lengf:hz bl'e‘dﬂl = lsm =46m

perimeter of square garden is

12km. Find its area.

Perimeter of square = 4 % length = 12km
4% Icngth 12 lem

Lengtba"'km 3kin
Areaofaquare length x length =3 x 3 = 9km*

., Find the breadth of a swimming pool

whose length is 18m and area is 198m?,
Area of rectangle = length x breadth

4 area

e
198m*

= 18m

Find the area and perimeter of a

square shaped garden whose measure
otyndeiszlm.

=11m

Area o!‘ square = length x length



ii.
Sol.

Sol.

iv.
~ Sol.

V.

Sol.

&%

Area of rectangle = length x breadth

!  =6em X 4cm
= 24cm?

Perimeter of rectangle 2 x (length + breadth)
=2 % (6em + 4cm)
=2 x (10cm)
= 20cm

43 '

-

Area of rectangle = lengf.h x breadth

=12.4cm x 8cm
A : - 99 2cm2
Perimeter of rectangle = 2x(length + breadth)
- =2x(12.4cm +8cm)
= 2 % (20.4cm)

 Area of:r'ectangle = length x breadth

=9cm X 3cm
= 27cm? ’
Perimeter of rectangle = 2 x (length + breadth)
= 2 % (9cm + 3cm)
=2 x 12cm = 24cm Ans.

Area of _s'quare = length x length
: AN =1lemx 11l cm
= 121 cm?

: Pemm'éter of square = 4 x length

-4x11cm 44cm Ans.



rxareize 11,9

Q.1. Find the area and perimeter of the
following squares and rectangles.

gL i 3
7em Bom 12.4cm
18
~8cm 1icm 17em
§ &
° I
11.2em 7.6cm N 5em
i. v
Sol. \
Area of square = length x length
= 7em X Tem
=49 cm?
Perimeter of square =4 x length
=4 xTem
F = 28¢m



Q2. Fillintheblanks. &5) . ‘e

i A is a part of a m two
distinct end points.

ii. - The unit of measuring an angle iscalled .

111, A straight line has an angle of A

iv.  Only three elements can construct a triangle but
one of them must be a

Answer: , . Ty

i. line segment  ii. degree  iii. 180° iv. side

- Q.3. Tick(v) the correct answers |

i In a line AB, the right bisector passes through

its.
a. pointA ‘b. mid-point
¢.  pointB d. none
ii. Bisection means to divide into parts.
a. one b. two
(oY three d,_ four
iii. A right bisector intersects the line at angle of
a. 600 ' b. 450 |
c. 900 (il nrg ABOR 54
iv. The sum of internal angles of a triangle is
always
a. 900 b. 1800
c. 450 N 7 3600
AnsWers:
el ii.b iii. ¢ iv. b

o
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i mAB=5cm, mBO = dem, mAO =Sem
Zx»p/”

0

A : 8 .
i3

i, mXY = 6.2cm, mYZ = 5.8cm, mZX = Tem
Loy

X 6.2o0m

iii. mPQ="Tem, mQR = Sem, m/Q = 60°
R

mMN = 6,4cm, m/M = 75¢

v.  mAB=7.2cm, m/A = 65, m /B = 350

Objastive Exareise 10
Q1. Answer the following questions.
i Write the meaning of the word geometry?

 Ans. The word “geometry” means measurement of
' earth,

il Whatigmeantbyﬁghtbisgctor-ofaline?

- Ans. A right bisector can be a line, ray or a line

segment which divides another line segment
into two equal parts, perpendicularly.
What are congruent angles?

i
Ans. The two angles of the same measurement are
called congruent angles.

iv. How many elements are reqmred to
construet a triangle?

Ans. Three elements are required to consthuct a

triangler
v.  Define a line segment,

Ans, A line segment is a part of a line which has two




Q3. Draw a line segment PQ of length 6em.
vl'l‘akeapointnonltanddrawa
/é/perpendlcularpassmgthmughxt

ik
ey

v

Q4. Draw a line segment LM of length 5cm.
TakeapointNoutadeohtanddrawa
perpendicular on the line passing
through the point.

Sol.

Q.5. Draw the following angles and bisect
them




ii.l.
&]0

iv.

Sol.

V.
Sol.

Hypotenuse = Sem, Altitude = 4em.

[

A

Hypotenuse = 7.5¢m, Base = 4.5¢m.

A 4.5em B

Hypotenuse = 6.5cm, Altitude = 3.5cm.

V.  Hypotenuse = 8,2¢m, Altitude = 5.8cm.
Sol. | ;

/c~7'

y
:
N
A /(‘A B

Paviaw £xarzise 10

Q.1. Draw two line segments AB and CD
45cm and 3.2cm long respectively,
Draw a line segment equal in length to

their sum.
Sol.
A= = B
C—s 0
\ 20N
P R s 3

Q.2. Draw two line segment.s AB and CD 7
c¢m and 2.8cm long respectively. Draw a
line segment to find their difference.

Sol.

5 7o :




Q6. Construct the ARST, when

-

i mRS=57m,m/R =45 msS =75

R §lem $

Q7. Construct the AAOB, when

i, mOA=45cm, mZ0 =90, m/A = 30°
Sol. Sl '




Q3. Cstruct the APQR, when Vo4

0 =68cm, m/P = 1200, m£Q = 45°
L.

e

Q1. Construct the AXYZ when

i, mXY=5em, msX =60, msY = 300
Sol. - -

X . Sm Y
Q.2 Cm;sh'uct‘theAABCw:hen

i mBC=Tem, m/B =45, msC =90
Sol.

\ =
o

49cm B

A
5. Construct the ALMN, when

@=6cm.mﬂ.=50’.mm-60°




N, (AR A y : 5. Yy >
V. mXY=5-ﬁcm.mYZg0ﬂ{m£XYZ=45" viii, mPQ=9.2cm,mPR='8mmAQPR=M

L

3.2. Draw the following isosceles triangles.

mOA = 5.5cm , mZAOB = 30,

0 A

myYX = 6.3(’:m.',»m£XYz= 75,"

L 6.2cm ™

vii. mAB =7.7em , mBC = 6.6cm, mZABC = 700
Sol.

z

£

., T, VR e




A8 x Go
if,  mPQ=8.4om , mPR = 8.6em, ZOPH = 1208,

- 'lf Aty i
v.%gucm.nm-%cm.mbm = 44em
Sol.

S Bdem Q

i, m&=8¢n,mﬁ=&m,nﬂ08=90’.
Bol. !

Q.. Construct the following triangles by T
using a protractor, a pair of compasses
and a ruler,

i m§~8=5m,m5-0=7cm,mzABC=m".
Sol.

c

. ml:ﬁ=9cm,mfi=‘.5¢:m._mdﬂ)‘=l§0’.
N
150"
A Sem B ik M



iii. mBC =9%m, mAC

g

A

w’
Sol.

410m 220m

4 s 63em M

v mP—Q=4.8cm,ﬁQ_ﬁ=3.2cm,mﬁ—P-5.9cm
Sol. ¢ 2

P 4 5em o'

Q.2. Construct the following triangles

i, mAB=6em, mBC =Scm, mAC = dem
Sol.

i

-mﬂiiswem.mﬁ-mm,mfﬁaucm

ii. mP'—Qalocm’lIIQ.Bflch,mP—ﬁaW'




v,
Sol.

ZOAB is the required angle,
135°

= — =

o A

LOABs the required angle.

i

i ) A
LXEIEIE 19,9

Q.. Construct the triangle if possible.

745 mﬁ'=5cm.mﬁ :scm,mz’i =2m
Sol.
z

Steps
i Drawadem long line segment BC.

i, Consider the point B as centre and draw an arc

of radius Bem.

S Now consider the point C as oentre and draw &

arc of radius 2 em.

iv. Finally jin the points A with the point B and
again the point A with the point C.
AABC is the required triangle.



=

Sol.

180°

Q5 Construot the following angles by using

a pair of compasses.
i 18 -
Sol.
4
! ’
I N
c/ ‘z" |
¥ B
[}
Z0AB is required angle.
i 1
i (3]
Sol. )
A
|
L A
1 /
;:( i
Y4 8
sy 0 A
ZOAB is the required angle.

- Bameri T



Q3. Draw the following angles by using 2
5 protractor and bisect them by using a
@ pair of compasses.

i 450
Sol.

A B

Q4. Draw the following angles by using a
protractor and divide them into four

angles,

060
 Sol.




iV. ;50' ;, o 2
Sol.

A

Q2. Draw the twice of the following ‘angles
by using a pair of compasses.

Lo 40 |

Sol.

k.Y




E
-~
(S

N

L M
Sol. Q1. Construct the congruent angles of the
) following measurements by using a pair
§ of compasses.
aly i, 850
A
A
\J : i
Steps )
j Same asin (i) 920
iv. b
'§E M
AC
Sol.
4
P
S
L J W o
‘ ‘9“—5
4 L4
\ Yy
A Steps
* Sameasin (i) sy

;'#‘ ) t‘



. Same'asin(i)and (i) -

Q.3., Draw perpendiculars from the points P

to the line segment LM.

A 0 B
Sol,
Steps
Same as in (i) and (ii)

iv.- " "

: A B
Sol.
Steps

B

Steps
i Consider the pint P as centre and draw an arc of
a suitable radius that will' cut the line LM at
any two points A and B, :
Consider the point A as centre and draw an

of suitable radius.
Repeat the process with B as centre.

Join P and Q.

pe

Steps

Same asin (1)



z

v
H e

S,

Draw b aes o s >3 LI with cenie
at L on each side of line segment.

Repeat the process with centre at M.
Join & tnd B, Thus AB s the ight bisecor,

Draw perpendiculars from the point 0
to the line segment AB. X

N e 3.

A 0 B

vy
\

Consider the paint O as centre and draw an
are of suitable radius that will eut the line
B at any two points C and D respeetiely
ie.,m&szTl).

Consider the point C a8 centre and draw an
arc of radius more than OC es given below.

.?&,-"»1‘

Now consider the point D as and
repeat the last process. 27
Join the points L and 0. Draw & line that
will given a perpendicalar to the given line.

Thus ﬁdwreqnuedpapendwnlar

— —
A 0O B

Ny

Consider the point O as centre and draw an
are of suitable radius

Consider the point C as centre and draw an
are of radius mare than OC.

Repeat the process with D) as center.

Join the points L and 0.

:&ismquiradperpaﬁdﬂar.



ii. - Consider the point A as centre and draw two

arsfradius marethan 3 AB on each side

i Repeat the process vith B as centre
v, JuinPand Q. Thus PQis theright bisector.

ii.
X Mm 24 ’
Sol.

i Drawa6dom fine segment XY.
ii.  Consider point X as center and draw two arcs-of
'radinsmor'ethan';‘ XY on eagh side. :

iii.  Repeat the procesd with centre at Y.
iv. JoinPandQ

v.  Thus PQis the right bisector,

B o0
¥

i, Drawline segment PQoflength 9.8 em.
i Draw bwo s of radive > PQwith ent
ot P on each side of ine segment.

iii.  Repeat the process with centre at Q.

. Join A and B. This AB is the right bisector.

> —
k ) §2em

. R
lSl . :.:.i%a

i.  Draw aline segment LM of length 8.2 cm.

————



N

Setp3 @‘ | Setp-3 o'/}

Similaﬂy,measnreﬂx_elengthof(TDandmt Similarly, measure the length of CD and cut
another.segmenl_?l-Sfmm Pie nBS = mCD but another segment RS from PQic. mBS = mCD but
here R lies between P and 8, here R lies between P and S,

bk i 267 TR :

From the abowe, we ¢an sce that . From the ahove, we can see that

mﬁl:m?S-m?S 4 mﬁ}:mFS-miS

Butwekn;)wthatmﬁzmﬁ,mﬁs-=ma). mmmmmﬁlzmﬁ-mc-])

'l]leum?R:mED-mED | ' mR_Sisthemmiﬁ!(lﬁnemt

'l‘hus,‘ PRis the required line segment.,

ii. W/
. . Q1. Draw the right bisectors of following
) ' line segments by using a pair of
: P e 11 compasses.
) L
Step-1 (R Tl
mearaylﬁ ’ 7y §
T 2 ‘ oy
Step-2 A | H
w4 o
Measure the length of AB and cut a segment '
PR of the same length, i, m PR = m AB. ! : -y .
& s 1Iength‘ s,m

P

i.  Draw a7.6cm long line segment AB.

" ow

~¢
"



iv.

(o))
E N
N ‘
s .
C .
Step-1
Diawamyﬁ
Step-z
Measure the length of ine segment AB with the
help of a pair of compasses.
Setp-3
. Remmd:epairofmpasmﬁomA_Bandmt

a segment FRfmmthe’rayRio‘fsamelength ie.
mPR=m AB 1

Step -4
Similarly messure the length of CD and cut
Musegmmtﬁﬁwﬁi.e.mﬁ:mc—l')
’ s . : 4

Bt

Step-5 (/o.D
Similarly measure the length of EF and cut
another segment ST from PQie.m 8T =m EF

>
1 l v,

From the above, we can say that
nFi=nfR+n i snsT
B_ut‘:ve know, mPR = mAB, mRS = mCD,
m ST =m EF
Then PT=m B+ (D +m BF
Thus, PS is required line segment,
Q2. Draw the line segments to find the

difference of measure of following pairs
of line segments,

Step-1

me_arayﬁ.

P

oY

Step2

s

Measire the leagth of AB and cut a segment
P_Rofthesamelengdmi.e.mﬁ:m;f&

PR e

> T P



'

-

Similarly measure the length of CD and cut
another segment RS from ﬁti.e. nifs::::f!—f)

.
-

hé;nxheabove,"wemag'm
mFS=mﬁ+-mf8: . ’
But we know that m PR = m AB,
‘mRS=mCD
Thenm PS=mAB+mCD '
Thus, PSis required line segment.

Step-1 -

Draw aray PQ.
Step-2 '
’

Messure the length of ine segment AB with the

help of a pair of compasses. %-1‘

ot &,

Remove the pair of compasses from AB and cut
a segment PR from the ray PQ of same length ic.
m PR=m AB

P » . a

o

Si:ﬁlarly‘mwm-the length of CD and wut

‘ anothetwg’mentﬁﬁumféie.niﬁ:‘mcf

TS

»

e & 4 9
Step-5
Similarly measure the length of EF and cut
sncther segment STfrom PQic.mST=m EF
e———A————

me.ﬂxeabo_ve,wammythnt

mPl=m f’ime-S-+mS—T

But we know, mPR = mA—ﬁ, mRS = mCT),
m $T=m EF

' Then PT=m 4B + m 0D +m EF

Tlfx;s, PS is required line segment.



BT
2 /pa/‘
Q.. Draw the line segmedt to find the sum I“m—mthaabovev.vecansaythat el
of measure of the following pairs of line TR e
segments. Y 2 gt
‘A B But we know that, m PR = m AB and m RS =
;— l; m CD then m PS = AB + m CD
Sol. “’J i& required line segment.
Step-1 e
Draw.arayfb. 4
«— . —
P : Q 1
Step < 2 s
Measure the leagth of line segment AB with the
helquap@irofmpw : 1 |
_ mea‘rﬂfb
. Step-3 . .

P

ow

.p-2

Measure the length of line segment AB with the
d of & pair of compasses,

§ s |
Remove the pair of compasses from I_Bandcut

;jSegment FRﬁ;gm the raylsﬁ of same length ie,
PR=mAB

Remove the pair of compass from AB gud cut @
segmmtﬁ&omdxérayfbofsamelengthi.emPR
=mAB.

@ L R
. o v >
T

P R Q
~ Step-4 |
, Similarly, measure the leogth of. CD and e
nnothasegment‘R—Sﬁm Fqg&pﬁs;m@

s ey RO RER o



W.Z. il in the blanks. C26 20

s A Tha weighing balance is an oxoeuent example -
5 Yy s o g el LD
iHo- - T A relationahip of‘ betwe,en two

z expressions is called an equation.
ii.  The value of unknown of an eguation is called
Gy of the equat.xon
iv. The equation which contains a single variable
: with the greatest expongnt of __‘_ is
- called the linear equation. i
V. A number or a variable can be transfer_red from
one side to the other sxde by changxng its sxgn
This operation is ce.lled

Answers:
s Equa.tlon Tk . ii. Equality
iii. Solution iv, F '
i tranbposxﬁon .

Q.3. Tick(wv) the correct answer
> The salution of bhe equation x — 1 = — 1 is

a0 ’ b. 1 c. 2 d. 2
ii. in 0 w-nte an equation, we use the sign. :
Tal # b. —1 - e d Z
i 16%5E 21, thenx =2 % _
s
a. Q) b. +1 €2 d. 3 |
iv. - The statement “my age is equal to the twice of

my brother's age” can be written in the form of’
©  equation as .

. ax+y=2 bx==2y c."‘{—.j‘.x d.g =‘%
Answer: AT A
TEE Ve 3 T fit.d . b

%2‘0 \\.lv




But number are consecutive, the next numbers

will be 5
x+1Lx+2,x+3 (Ct.fz,Y
Now according to the condition

X+(x+1) +(x +2) +(x + 3) = 266
Xx+x+14x+2+x+3 =266
£+X+x+x=266-1- 2 3

4x = 260

1# pumber = x = 65

25 pumber =x + 1.=65 + 1'=66

3 number =x + 2= 65 + 2 =67

4% number=x +3 =65 +3 =68

Check: Sum of number = 65 + 66 + 67 = 266

Q.5. The numerator of a fraction is larger.

than its denominator by 4. If we add 1
to its denominator, the fraction

becomes %. Find the fraction.
5

Sol.

+ Let the denominaior:x
Therefore, numerator =x + 4
According to the condition
+d) 3
(x+1) ~ 2

2 x+4=%x(n+'l)

2x(x+4)=3x(x+1) .
s, g

7 W +B=3x+3

< Ke fa7
2x-9x=3-8 %
e .,—""'..___‘___-—-/
X=b

- Dengminator =x=5

Numerator =x+4=5+4=9

Fraction = : Ans,

Negdive Trarelse 9

. Answer the following questions.

Define an equation.

Ans. A relationship of equality between two algebraic

expressions is called an equation.
Which equation is called a linear

“equation?

The equation which contains a single variable
with the greatest exponent of 1 is called linear
equation. '

What is meant by solvmg an equation.

Ans. The value of unknown in an équation is called

solving an equation.
What are four steps for solving a pmblem

* by using an equation?

i, What is the required thing?

ii.  Represent the reqmredthmgbyvanable

ii, Write an equation according to the
St(atement

iv. | Solve the equation and check the
solution.

[ i ey PR =



Vi

Sol.

B4 -42x ) =28 D41 oy 4 P

\ )
Ix-12-8x-12=2410+1 .
Sx-8x-2x=10+1+12+12

‘. -Tx=85

B
X,--7;

JX==8

Sol

C5x-13=-x417

Q2

8
AR H
3

2(!-2#8(:-3):3(:-6)-4(1-8) ¢
2x-4+43x-0=3x-15- 4x+32

bx+x=17+13
Bx =30

30
=%
=5

’If ‘a number is donbled and then
_increasedby’?,itbeoomesl&ﬁndthe

number. |
Let thenumberbex »
According to the condition
Nx+T1=13

I=13-7

=
gl’husthennmhetisa.‘

its length and breadth,

%=

Q3. Thelensthotammgneofamtangte

is 6 m larger than three times of its
Mﬂh“mpenmmmm.ﬁna

_()eufz‘, P

Let breath of rectangle =x

. Breat.h 0y

Then by given condition

' Iﬁﬂzth‘. =3x+6

* Perimeter of rectangle = 2 (Lngth + Breadth)

g +3x+6)=148"
2dx +6) =148
Bx+12=148
8!’-1‘6?12
Bx=136

x=17
Breadth =1Tm
Length =3x+6
=317)+6
=51 +6 : &
Lenght=57m  Ans.

. The sum of four consecutive numbers is

266, Find the numbers,

ol
Let 1 number be x
As given,



QL. Solve the following equations.

i ‘ 8x+%=2-x
Sol.

B

Bl
-+

o |
"

B2 |4
I

et

‘ 2‘&-,\\

St bl

-

 ox-4)-8ix-3) x+8

10 Sex

Hox - 4) - 8lx~3) ='{X_I§l x40 = 10(x 6)

2x - 20 Bx + 24 = 10x + 60
26% - 8x - 10% = 60 - 24 + 20

25~ 18x = 80 - 24
T2 =56
56
1=
x=8  Ans

Bix-5) Hx-2) == X1

=-Jx6
Bx-40-3x+=-18
Bx-3x=-18-6+40



Q7.

By +y =45 & o
) e
fads "= y=p > ye§
Paty=5in (i) :
x+5545
x=456-5 A
x=40 e :
So price of book. =Rs.40, price of pen = Rs 5
Qasim Hussain opened his account
hook. He observed that the sum of the .
tfvgbpage,;intmntdfhimiss&ﬁndthe‘
page numbers in front of him. (Hint:
~ Suppose the one page number is x, then
- otherwillbex +1) : : ;
Suppose one page number = x :
Then the other will be x+1 '
* According to the condition
x+{x+1)=93 i
X+x+1=93 LS
2x=93-1 \
2x =92
=73
x=46 g
*~ The other number = x 4 1
Putx =46 > :
X 46+1 x=47  Ans,

L SRy

ced 69 nins in the score of
Pakistan, if the score of Abdul Razzaq
is double than the score of Imran '
Farha"t;l"lndthath’owmanyrunsﬁbdul.
Razzaq require to complete his haif
. century? : .

Let ryns scored by Imran Farhat = x
RuniﬁcoredbyAbdanamq:y
Aocordingtogiveneoqdiﬁcn,
- X+y=69
Asgiveny=2x
Put y = 2x above
X+ 2% =60
- Sx=69
x=?
x=23 . ;
funs scored by Imran Farhat = 93
As, Abdui RAzzaq scores double runs than
1 Farhat.mnsmfedl:yAbdulRamg:%xZ
‘. =46 :
_ Therefore Abdul Razzaq requires 4’ more runs
b0 tompute ltishglf.wncury, 1e.4644=50 Ans.

ey
) = P
v -




xey=12. | R @'} Q.S.lbédlffeteneeoft'hetwonnmbérsw&

. As given, one number is twice of the other, Find the numbers when the one
“Then
i) _ numbemﬁhoftheother (y 7/
C h=R 8ol
k=£32" x- =6
x4 | ) hx
Putx=4inl). ' “‘ i
x+y=12 §i_=6
d+y=12 4
y=12-4 dx=6x4
y=8 3x=24
. So, number are 4 ands, Sl
Q4. The productof two numbers s 72 Find e
e e munber when he ane unbe o =5 =2 <2 |
i89. : i
Sol. y - Q6. Sabeena bought a pen and a book for
e " Rs. 45. The book was 8 times more
.I.ettvmmnnberst’otlle bexandy expensmthanthepen.Whatmthe
Acco;di; Ao ~ pricesof book and pen? |
ngven s et 8. S |
'I.et 9’ Let the prices of book and pen be x and y
) respectively, .
(9)'y=7-2 Accteingt hestatement
y=192_ xiy=4y —di)
. : Asm.thebooknshmesmmmmm
AR thn the pen. 50
| b
R Putx=Byin (i




Q1. Find the value of m by putting n = 2 in

';i P -nxid m=2x5

' Put n=2 m=9
h-zlw ]il‘ E:ﬂ-&n
2m=1242 ;
2m =14 Bol.

14 " Put=n=2
| om _
m=7 2 e

AL YN m=9-3m
R I S m+3dm=9
Sol. - 4m=9
(3
Put n=2 » -9
m 9 VLT
! Bt

m=Zn+n+l

Put=n=2

m=22)+2+1
m=4+241

:

2m =10

_10
ne3

m=35

S m+ns=mn

PLrE Y
Putn=2

m=1T Sol.
2m+n-2=3n «  Putn=2

' : m+2=m(2)
‘m+2=2m
m=-2m==-2
204 2-2=3(21+2(2) el
2m=64+4 } m=2

The price of the toy gun decreased by
Rs7. Find the original price when the
new price is Rs.18,

Let original price = x
Mnﬂ'ﬁﬁlemt
Discounted price=x - 7=18

x=184+7

x=25
Original price of gun = Rs.25
The sum of the two numbers is 12 when
the one number is twice of the other.
(Hint: suppose the one numberis x then
therezﬂx) '

Lét the numbers be x and y '
Ascording to the statement















_GHA;TER

LINEAR EquATIONs

-.‘.

Equation

A relationslup of equality between two algebraic
- expressions is called an equation.

. Linear Equation in one variable
The equation which contains a single variabile

y Wlth the greatest exponent of 1, is called linear
- eguation in one variable.

Sokation of the equation

The value of unknown in the ‘eq'uat.ioh is ecalled
‘; the solution or root of the equation.

Four steps for solving a problem by using an
equatnon

S ‘What is the required thing?

'{i. Represent the required thing by a vanable
Write an equation according to the‘statement.
Solve the equation and check the solution.

mxargisa 9.7
' Q.1. Write an equation for each of the
: followings.

3 The > Sum of a number and 8 is 14.
- Ans. Letthe number = x 4
- According to the statement x + 8 = 14



Q.1. Find the perimeter of a square whose
area of 676cm?,

Sol. :
Area of square = §76m2
Area of square = Length x Length
676 =26x26
18 ’
Length of square = 26m
Perimeter of square = 4  Length
=4x%
=108m

Q2. A room is 4.5m long and 4m wide. The
floor of the room is to be covered with
square marble tiles with length of 0.5m.
Find the cost of flooring at the rate of
Rs. 500 per tile,

Sol.

- Length of room = 43m
Width of room = 4m
Length of tile = 0.5m
No of tikes to be used for room bre found as

Nool s st ver g = 2 =9

N of s usd o cover it =7 =8

Total tiles used for floor = 9 %8 = 72
~ Costof ane file = Rs500
~ Total eost of 72 tiles = T2 % 500
' = Rs.3600 Ans.

ket

ﬂ
Q3. Find the cost of repairing of a 2m wide
Jogging track at the rate of Rs, s0per
‘Square meter, constructed inside of a
park, when the length and the breadth
of ﬂte park are 100m and G0m

50 el @,z./x

L
Outer length = 100m
Outer rendth = B0
Outer area = 100m x 6m = 6000
Inver length = outee length - 9(Width of border)
= 100m - 22m)
=100-‘4m=95m
s breath=puter breadth-Jwidthof border)
=60~ 2 (Width of boeder)
=60~ 2) =60 - 4 = 56y
=Y6m* x 36m? = 5376m?
w&w:mm.mm
=0W0m’-5376m!=§24m:
Cost o repairing - = (624 x 50)
=Rs31200 Ans,

Q4. Caleulate the cost of flooring Tm wide
verandah at the rate of Rs.100im? which
surrounded a 6m long and a 4m wide
room.

Sol.

lnmchgthﬁm



